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PROGRAMMING ERRORS

0001 ‘Linea vacia’

2 M CNCOlA =SZ0|HLIDNCE ooH —Z-s— T2 0| AldL = Sot

g o s &2 O1€DPII o010 US Ct.

8l 22 (empty block) £= 2t (block number)% Lsol=s 58 T2 =ole] ot HLF aldisled) &
1]

«irregular pocket canned cycle with islands(G66)»WH0IIA Ttet0IE “S” (profile Al&) Lt2t0IE “E” (profile &)

of &2 2 |0l et siEeE 2 Gsu 20
CNCe ¢l ol Z=2 80l O'E‘o}}lu Alde &~ QUG Z2 30 8 2tel(empty block)2 A3 IoH

He 1 289 ANEKAXNA «» IISE A0k 8L CNCE E29| #H(rest)E S AIE 210ICH
utetolE =t “S”(profile & 2lJt AI’—‘.’SPE ES)= BEAl mWelole gt “E”(profile QDI L= €5)20 ol
OF BtCH

0002 ‘Improper data’

g M CNCOIA HAHZSO0IHULIDNCE Eoll Mg T2 0| AdlgsE Sot

& o S 22 oJHXl folol UL

BAMXHFST E=ED) T= «MxJIs & = JEE BEE M

E2 SKIPQ EAIDI AIE==H0 g2 O

ISOREZ Z2 ) &dl= S0OF 9999 2L H0| E8H
«|rregular pocket canned cycle»2| 0FXIZ =¢(G68) 0
high—levelOlAl T2 &6l= SO, PRT && g0| 999
ol 2 2 |ol0l st e CiS 20,
T2 Y =k IS

block skip (conditional block /1, /2 or /3)

Label (N)

«G» Jls

= »ENX Y, Z)

JIHJIBZEA(F, S, T, D)
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«M» J|ls
EE72S HHSEHCE 00lA 9999AI0I0lA StASS T2 ) EHCH

«irregular pocket canned cycle»0il CHoll OFXI2 cycle(GE8)™LHUIAM Z2 8 & %= U= H(point)2 SiCH
CNCe= JIHIIEBE Al&EGH= pointE A&SCH T2 2 format® G68 B..L..Q..I..R..K..V.. 12l UM HE
ZA(cutting condition) 0| C}.

4. EERIS £FEILL 00IA 9999A1012) BtSE HS

i
[H

gt

o
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0003 ‘Improper data order’

2 M CNCOUIA =AHZ0IXLI DNCE Soll &= T2 80| Adigs Sot
TOOL GIOIES JIAHIIBEZOl B2RE ¥ydoz T2 ZJois &R

Tz HHO0| F..S..T..D..CH= HS JIYSIAAIL.

2= HOIED =208 2 BeE= gL (Al the data need not be programmed.)

o o
W 12 g

04 ‘No more information allowed in the block’
M CNCOUIA &AHS0IHLI DNCE Sdll &= T2 30| d8lg= SOt
ol OIS 22 oeJtAl |elol UL
XE OSH «G»IlssS HAES

ESNA H522 JUNOF E(E= YR 1
H) S0l O{E CIOIEE =atein & M
ol 2 2 Kool st sHBeHES TSy 20

T20HY =AE IS

block skip (conditional block /1, /2, or /3.

Label (N)

= MENXY, Z-).

JIADIBEA(F, S, T, D).

«M» J|s(function)

ES0AN 22iE OOIHE A#Mdl= HH «G»J)|SS0| JUACHH, 12ist 2E OIoIe CSadl 0l 0l JIse &
Sc 2 32 85159 JisS T2 3ol ofXl &2 AO0ICH erHol J1HIIBZA(F, S), tool dataT, D), «M»
JIsE Z208 Z0XIXl E= A0IC.

22 JIA1D HoE ZRII Sl= A1 2sE Stalst

o S

SXHEQ 2E CoIEN 3=2E) «G»IIs(Es 2@ 1 It

=

HIOIEE JHY 0™ «G»J|SE01 UCH

0005 ‘Repeated information’

2 M CNCOM &4Z0|HLI DNCE Soll

2 ol EE0| Z2 GI0IEDt BrEiA gEgAS F
ol 2 SS7E8 +J &t ESU0 &2 =

0006 ‘Improper data format’

& 4 CNCOIAM Z&SO0IHL DNCE Sofl d&E TZ=0| ddlE= S0t
& @l machining canned cycle Itet0IEE F2ote SO, 82 &0 &2 gttt o1& WetiIE 0 S ULCH

ol 2 canned cyclel S EQISHCH ™ canned cycleflA 22 g8t 5lE& LctOIEHE0 UL

0007 ‘Incompatible G function’
2 M CNCOlA =AZ0IXLI DNCE Soll dse T=230| Adig=s S0t
g ol OIS 22 H2JHX &el0] UL
N2 SEE £ gl S Il “G”IIs(function) 22 =280 Z=2 U g
HI&E S&(G02, GO3, G08, G09, G33)2 E&tol= EZ0IA canned cycle2 AAoIH

ANEE M

off 2 2+ |AQI0l CHE sHZRYE=2 Chs 2L

N2 2Ee + e SHE ZE6 W20 ES0AM 8N £ & 8l "G"IIs2 O8S0l AL HE S0
G01/G02 : & el JFE UNWYH(REE)

G41/G42 : Left—-hand E£= Right-hand tool BtXIE E 4t
0l 2R JIsE2 U8 =80l Z218 I X0k StCt.
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5)



1o

It

08 ‘Nonexistent G function’

M CNCOUIA EHAHZ0IHLF DNCE Soll 8= T 30| Adllg= S0t

ol ZMolAl &= ‘G250l T2 UL

Z EERES &0loll, L2 UE ‘G'IIs0| HADKA LAU=KX QIS

e g

0009 ‘No more G function allowed’

2 M CNCOUlA EAZ0IHLI DNCE Sofl M= T2 0| s

& ol JIHIJIBEAH E= tool data CHEW "G” JIs0l T2 T/ACH
ol 2 T2y =NE I &t

block skip (conditional block /1, /2, or /3.
Label (N)

«G» J|s(function)

= HENX Y, Z).

JIHOISZA(F, S, T, D).

«M» J|s(function)

0010 ‘No more M function allowed’

2 M CNCOIA =ZAHZ0IXHLI DNCE Soll s T=2 80| Adig=s Sot
g o S=0 700 0|42 «M» IS0l T2 g

ol 2 CNC= EZ0l 70 Olae «M» J|sE2 &
Ol ZASoHOFSICE «M» DS ES0HA =2l O0F 8t

bl fldid=E 852 E5
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0011 “This G or M function must be alone’

2 M CNCUHIA HAEZO0IHLI DNCE Sl ds=E Z2 80| adg= S0t
=82 =E0AM 2=22 M0l= «G» E= «M»S GtLIE LEHSHL.
=50 0212 o otuot =480

o o
W 1o 0

0012 ‘Program F, S, T, D before the M function’ - M JISO0I&E0 F, S, T, DE T2 L.
2 M CNCUHIA HASO0IHLI DNCE Sl dsE Z2 130 adg= S0t

«M» Jls CIS0l JIHJI2Z2A(F, S) £= tool data(T, D)JF Z2 2 E UCH
TZHY =AIt ..F..S..T..D.M..0|I2t= RE KRISIL

Z O 702 MIIs0| =2 IMEICY.

All the data need not be programmed.

[
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0013 ‘Program G30 D +/- 359.9999’
Zost &3 g1S.(No explantion required)

0014 ‘Do not program labels by parameter’

2 M CNCOHIA &EHASO0|HLI DNCE Sdll &= Z=2130| &
& o gY(E8WS)0| LetlleE ol AL

o =YHSE T2 ]86t= A2 AAQIXICH, OI2I0IEE JHXLD g 4 UCH X 0HA 9999A10I
O HSE JIXl1 FHOECH

02

ol

rr
O
o

(E YT

0015 ‘Number of repetitions not possible’
2 M CNCOHIA &EAZ0IHLI DNCE Sdll 883 =
2 ol BIE0| 2 T2 AN EE2 Bt=0
ol 2 High-level 352 =52 OHXIZL0HA
ctH(ZEE/HST)S B=2AIID| foll =252 &<

mETIRY

| IBEIX 2Lk

of BH=E BB5HK UECH BEAIBSII Ik
2 A

RPT &

==
5|

ol rg
K fon

0016 ‘Program : G15 axis’
gt M CNCOUIA ZHAEZ0|HU DNCE Soll M= Tz 30| Aldig s sot
2 Ol «Longitudinal axis selection (G15)»JIs0lA =0 s m2t0lEJF T2 T H XX L=C0H

0
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of 2 SHIES QS “G15"IIs2 A= M22 MZ2F2 0188 222

o
[w)

0017 ‘Program : G16 axis — axis’
gt M CNCOIA HAEZ0|HU DNCE Soll M= T3] Aldig = S0t
2 ¢l «Main plane selection by two axes (G18)»2|S0IA =0 U8t TieiolgIF T2 T XX

EEFES HOIEHL. “‘G16"J1s2 B2A= M22 HYS2AS F2dt= 0152 2R 8tLt.

0018 ‘ Program : G22 K(1/2/3/4) S(0/1/2).

g2 M CNCOUA ZZAHZ0IHLI DNCE Soll s T2 0| Aldig= S0t

2 9l «Enable/Diable work zones (G22)»J|s0lA = B2t enable £= disablel &I BT XIX &
AHL BH2RE 0| SHEAUCH

ol 2 =322t ‘S”E enabling & disablingdte LI2I0IEIE BIEAl T2 BT 0 0t6lH TS

22 JLAOF StCt.

S=0: &Y32t0| disable &I ULCt.

S =1 :no-entry zoneZA “On” ULt

S =2 : no—exit zoneZA “On” &AL

0019 ‘Program : work zone K1, K2, K3 or K4’

2 M CNCOHIA HASO0|HLI DNCE Sdll s Z=2130] &
& o O3S 22 OeItRl |Ql0] ULCH.

"G207, “G21” E&= “G22” JIs0| &#H22F K1, K2, K3 £ K42 REGHAIED T2 2 AL
DT )8E Y3210 020 & AHU 42CH 30

of &2 2f 20l st 22 s 20

02
i

o

Sot

—

“G207, “G217, “G22” Jl=s0l tist =220 P2 AH0|

G20 K..X..C+-5.5 otel =32t #3S NISHStCh.

G21 K..X..C+x-5.5 AP A2t AE S NISHSHCH.

G21 K..S.. enable/disable ZH 32t
AR :

K = &gzt

X..S = 8t HeE =

S = 0|8 Jtsst HPB2te 57

0020 ‘Program G36—-G39 with R+5.5.’
2 A CNCOUIA HHZ0|HUL DNCE Soll 838 Z2 30| adic]= SOt
&l ol "G36” = “G39"JIs0A “R’II2I0IEHE Z2 3 E 4 AL S(-) 20l L TIALT.
ol &2 "G36"H “G39"E AHOololJ| AMME, M0l “R” E8t 2(+)2 gtex HOIZ| 0 BHL.
G36 R= 3&® BIXIE
G339 R = 8= FZ29 22 M2 UGSOHE EHNXKS A
cl

0021 ‘Program : G72 S5.5 or axis (axes).’

2 M CNCOUlA Z=AHZ0IXLI DNCE Soll s T=230| Asigs S0t

g o OIS 22 HJHK &2l0] UL

LR Ol A d QA (G72)E HEol)| st AHLH A 0] Z=2 s o
st ALY 24 (G72)E Z Mo =0 MEoiail & M 501 2RE HZ2

[¢]

Jm

£ ZoH UL

s 2 02 IS0l tsl Z2IAY 2KE Kol
G72 S5.57UEHHOl AHAY H4(factor) B (2E S0) HSE O
G72X..C5.5"SHB ALY HA(factoNB oLt T= 2 Ml =0l
Ngg I

22 ‘Program : G73 Q (angle) | J (center).’
M CNCOIA ZHAZ0IHLI DNCE Soll &= T2 30| gy =
Ol «Pattern rotation (G73)»J1s2l I2t0IEJF Sl T2 CAC |2 S 2.

e S
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24T 2R £FLACH
SIMSHFES BHLIH A XL ACH
SIMSANTEI ERE BYoZ E&FIUCH
ol 2 0] JIs9 T2 RAEAS ClsSh 2L
G37 Q (angle) [1 J] (center)
“QUate &t Tz 2 T O OFsHLY.
“7, “J7gte LOAFOIXIDH T2 CJH BIEAl E CF 23 T0{0F8HCE

0023 ‘Block incompatible when defining a profile’
2 M CNCUHA HAEZSO0IAHLI DNCE Sl ds=E Z2 80| adg= S0l
& 9l pocket profile® Holol= =2 EH0WA profile AL E0| US # = “G"IIsS LEole 25
0l RUCH.
ol 2 pocket(2D/3D)2 profile B20A Ol Jtsdt “G"IlsS TS 2L
GO0 : profile2 AlZt,
GO1: &M 22t
G02/G03 : Al HILE/EEAIH L& 22t
GO6 : HUMZNMN & 34l
GO08 : Arc tangent to pervoius path.
GO09 : Three point arc.
G36 : Controlled corner rounding
G39 : chamfer.
G53 : Programming with respect to home.
G70/G71 : Inch/metric programming.
G90/G91 : Programming in absloute/incremental coordinates.
G93 : Polar origin preset.

-

£ &t, 3D pocket profiletil A=
G16 : Main plane selection by tow axes.
G17 : Main plane X-Y and longitudinal Z.
G18 : Main plane Z-X and longitudinal Y.
G19 : Main plane Y-Z and longitudinal X.

0024 ‘High level blocks not allowed when defining a profile.’

2 A CNCUIA HAHSO0|HL DNCE Soll 838 Z2 80| adiL)= S0t

& Q! pocket profileE &2lot= =52 HF0AM High level 50| =218 EUCH

ol 2 222l pocket profile® BIEAl ISOREZ AL 0I0F 8tCt. High level @3 sIE% X &=L (GOTO,
MSG, RPT -)

0025 ‘Program : G77 axes (2 to 6) or G77 S.’

2 M CNCOIA =ZAZ0IXLI DNCE Soll &= T2 30| Adig= Sot

&l 9l «axis slaving function (G77)»0lA S0l 28 TI2I0IHES BIEAHLE «spindle

synchronization (G778)» JIs0IlAl LI2t0IE “S”"E WERCL

ol 2 “axis slaving” JIs0A ZASt & e H2 T2 ]&ct1) “spindle synchronization” JIsMliA= &4
mi2lolge ”S”"& T Z 1 ESHCY.

0026 ‘Program : G93 J’
g M CNCOHIA EHAZO0IAHUL DNCE Soll &8ss Z280| Adg=s S0t
2 9l «Polar origin preset (G93)» JIS0HA MZ2 =29 X0 26t m2i0le Mot === T/ X LUALH

of 2 0l JISE AtEob)l AolA OS2 Z20Hd =AE 72
GO3 I..J..
47, N7 22 L2AFOICH SHAIR ZRIESHH ZH & O T2 T00F 6t2, M22 3 |BS UEHHOF

o

Ct.



0027 ‘G49TXYZS,XYZABC,or, XYZQRS’

2 M CNCOIA =ZAZ0ILI DNCE Soll &= T2 30| Adg= Sot

& 2l «Incline plane definition (G49)» JIsWHA H2l0IEI & H T2 08 ALk
ol 2 23722 S0IstC, T2 Toi2 S 20

TXYZS XYZABC XYZQRS

0028 ‘G2 or G3 not allowed when programming a canned cycle.’

2 M CNCOHIA HAZ0|HLI DNCE Soll &3 Z=2 180 ady= Sot

& ol "G02”, “G03”, “G33”0] HMU= S0t alshstd] Al A canned cycleOl Al & AL

of 2 canned cycleE &8ol)| M= “G00” E= “GO1"2 BIEA HM UONOF StCh. “G02” E= “G0o3”
Jls2 T8 history OI&H Z2 3= £ACh Canned cycleOl HZAS M 0lds JIsS=0l HAMUKX
22X EQISHC),

c ©

029 ‘G60 : [Al/X | K/(2) [PQRSUV]’

b M CNCOIA EAZ0|HL DNCE Soll MaE Z2)30| A= Sot

9l «Multiple maching programmed by means of an arc chord (G60)» Hm2t0|EJI 22 Z2 & T UCH 0]

L o4 Jisst |elS S &L

O™ = I2HOIE D WA QUL

cycle2| IietOIEIL H&st HEdos AL A AUALCH

O™ HIOIEDE HI UAS &= QUCH

ol & 0l ZEF° JIAHIIZ20A ool IZI0IES HEe20| ga T2 0 MO0k ST,
X H220|
I JIAHIE 2F A0l S
K: JAHIIE B #HS

LHHXl IeI0IEHS2 L2AEO0ICH MHHAMNZ BEAEE BHO0A LI2H0IEE £~Eo]0FsHCH.

0 [0

0030 ‘G61-2: [AB] /X1J/(2)YJD (2/[PQRSTUVI]’

2 A CNCOIA HAESO0|HL DNCE Soll &8 Z2 80| aldiL)= S0t

& 2l «Multiple maching in a parallelogram pattern (G61)» & «Multiple maching in a grid pattern (G62)» 1}
clOIEDI 2% Z28 ZIRUCH 0lHE B ola Jisst |el2 G310 2L

ol H™E m2H0IEDF - UL

O® OIOIEDE HIO AS == ULCH
of 2 0l EFY J1AIIE2 2t O (X, I, K) del1 (Y,J,D) & MY mtilee Z20eHYS 75

X/Y S&FH XS holeltXl2 Hel
1/J JIAHIIE SES AMOI2] S
K/DI IAHIIES B89 Hs

LIHXl metolelE2 L2AFO0IC el MXIOr EAISHE XIAIG T2t metole ot =& &0k &HCt.

0031 ‘G63: XY /I K(1) [CPI[PQRSTUV].’
2 M CNCOIA =ZAZ0IXHLI DNCE Soll s T2 30| Adig= Sot
& 9l «Multiple maching in a circle (G63)» cyclel| TI2IDIEDI 2 ZZ208 UL 0248 AR oA Jis
glole s 2C
ol = metolE D A QUL
cycle? TI2t0IEIDF BES Pz HHLIX LULCH
O™ HIOIEDE HIW UAS &= QUCH
ol & 0l =89 JIAHIIZ2 ot2Hel 20| =2 |00k BtCH.
X/Y SME2EH XAS holelt X2 Hel

ol

]

Jell ofeh IolEe & oLt
I JIAJIS & A0l 2ol EHA|
K: IAHIE BES ¢S
LHHXI Tet0leE2 2AFO0ICH i2AHIAIXIOH EAIGHS XIAIG et M2t0IEHE =& i OFstCh.

0032 ‘Ge4: X Y /I K/(1) [CP][PQRSTUV]'

O



2 A4 CNCUIA HHFO0|HL DNCE Soll 838 Z2 80| adig)= S0t
2 9l «Multiple maching in arc (G64)» cycle HIZI0IE DI 22 =208 EQUCH OlHE B M4 Jis
2 S 20
O™ = O2tolE ot WA UCH
cycleQ Ti2tOIEIDt &S BELE &4 & Xl LRULH.
o™ doIEJt I AS = UCH
of 2 0 S3R2 JAHe= O3 &S Tz ) &HGHOLSHTY.
XY SA2H XS holelt X2 Hel
B Total angular travel.

rov
{0
o

12|30 oteel CIOoIEl & oLt
I JIAINES SEA0IS 2t SHAl
K: IADIE B89 HE
LHHXI TetOleS2 2AFO0ICH 2 HAIXIDOH EAIGHS XIAIG Mt Mt0IeE =& OFstlh.

0033 ‘G65 : XY /A 1/(1) [CP].
2 M CNCOIM EAEZ0ILI DNCE Soll s T2 80| Adig= Sot
2 ol «Multiple maching programmed by means of an arc chord (G65)» Wet0|EDF 22 T2 S UCH 0]
8t F2 ola Disst |2 UsSy 20,
OfE 3 M0l - QUCEH
cycle2| Ii2tOIEII H&Est HHoE HHE X AUALCH
Ol® CIOIEDE HIH AS 4= AUCH.
ol &2 0l SRS JIAHIIBES US 22 T2 26HO0FSHTH.
X/Y ESAE2H HE holelt XSl Hel

0

v

el Otedel Ciole & atut
A g JHE=Z2 It chord? matrixe 2=
[ chord Z 0|
L Xl Ti2t0IElE2 L2AAOICH HIHHAIXION EAlIStE XA T2k TH2t0IEIE =38l OFstCE.

0034 ‘G66 : [D HIIR IIPC J]I[F KIS E [Q].
2 M CNCOHIA HAZO0|HLI DNCE Soll &= Z=2 180 adly= S0t
Ol «Irregular pocket canned cycle with islands (G66)» TIt2t0IEJF 22 Z213 ZQUCH ol Jts
CtSot 2L,
@5t Lot 2AXIGHA 2 Liet0IEdF 22108 &AL
Ol H™E M2t0IEHE WERCLCH
cycle L2t0IH HES HY¥OZ HAE KX LULCH
ol 2 maching cycle2 Ci2 2t T2 120H O8I
SFirst block of the description of the geometry of the profiles

Mo ro
]
o
e

e

making up the pocket.
EEnd block of the description of the geometry of the profiles

making up the pocket.

LIHAl 0SS L2AXO0ICH OlOIMIXIII EAlSHE XIAIG et Tiel0IelE £&oloFstlh. &«

cltOlHE=2 d2g + 8l

o

Ct

00

ot

H DIt X RU2H

I RIt HolTlXl U2

J Cot da&X EgAH

K Fob E2TX aU2H
JIADEE0l oLt (X.C)= & O Z23dE =+ gt

0035 ‘G67 : [A] B [C] [I] [R] [K] [V].

gt M CNCOIA ZAEZ0|HLI DNCE Soff d&E TR0 s
& 9 «rregular pocket canned cycle with islands»0lA EAIXS
pocket) 280 22 Z2) TQUCH 04 Jisst /o2 oSy &
Q&st oy 2X|5HA = mel0lEdF T2 I ACH

Ol® ¥ II2I0IEE WERC

s so
2D/3D pocket) == semi-finishing (3D
Ct.
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cycle II2t0IEHS0| H&st HEC=E HEE X L UALCH
o 2 maching cycle2 CIS 2 Z=Z2 1 246HOFSHLCE
Roughing operation (2D or 3D pockets)

B Ctting pass

I Total pocket depth

R Cooedinate of the reference plane.
Semi—finishing operation (3D pockets)

B Ctting pass

ITotal pocket depth (ZtAHEH0| HOIZ| K| L UACHH)

RCooedinate of the reference plane (A0 Ao Xl XU
CtoH)
L Xl IO2t0IElS2 L2AHO0ICH CI2{HIAMXIDF EAloks XIAIO T2t T2t0IEeE +=AolokstCh. 0l cyclelil A
JIAIOIBO0l 2oLt= (X..C)e =23 & % QiLt.

0036 ‘G68 : [B] [L] [Q] [J] [1] [R] [K].

2 M CNCOIM EAEZ0ILI DNCE Soll s T2 80| Adig= Sot

2 9l «rregular pocket cycle with islands»0Il A & A& (2D/3D pocket)l 28t T2I0IEJF 22 Z23 &
AUCH Ol& Jisst 202 Cist 20

LIQsh Zoi UXIGHAl 2= WelllEI T2 S UCH

Ol® HZ metole D wHECH
cycle Itet0IEJF HES HEFOZ HELIK AUALCH.
o 2 maching cycle2 CtS 22 T2 1 GHOFSICE
2D pockets
BCutting pass (BHAHE0] HOT Xl LUACHH)
ITotal pocket depth (ZtAHEHH0| ML K| QEUACHH)

RCooedinate of the reference plane. (EAH&HA0| AT Xl Q4Q
Ciod)
3D pockets

B Cutting pass

ITotal pocket depth (EAHEH0| HOIZ| K| L UACHH)

RCooedinate of the reference plane (EA&0| HoE Xl LU
Cied)

LIHAl TOtetoleESe S2AH0ICE GISIHAIXIO EAIGHE XIAIO THet Hi2t0lEeE +=&oH0kstCt. 0l cyclellA
JIHDIB01 20itls (X.C)e 2208 E = gith

0037 ‘G69: IB[CDHJKLRI’
g8 M CNCOUIA HHZ0|HUL DNCE Soll &8 T2 30| adig= SOt
& 2l «Deep hole drilling cycle with variable peck (G69)» It2l0IEI0lA Ol& Jisst
o™ HZE OOl I WERCH
cycle LI2tDIEDI 3&s HYOZ HEZ X LULCH
ol 2 maching cycle2 Ci2 22 Z=Z2 12 0HOSHCE
I Maching depth
B Drilling peck
L XI LI2t0IElSS2 L2AHO0ICH CI2NAMXIDF EAloks XIAIO T2t T20IElE +=AolokstCh. 0| cycledlA
JIADIBOl oLl (X..C)e 203 & £ eilh.

0

ol

—

CrSat ZCk.

o
ro

c ©

038 ‘G81-84-85-86-89: | [K].’
f & CNCOIA HES0IHL DNCE Sol d&& ZZ 30| dalk= sot

& 2l Drilling (G81), tapping (G84), reaming (G85) E£ & boring (G86/G89)2| cycleOlA L2i0IEII 22 Z=2
8 S ACH Oiel0le “l : Maching depth”JbF HE S XK= canned cycleflA S AD| D20 &M & %
USLICE

ol 2 0l 82 JIHE OIS A2 T2 IS OKSHCH

[ maching depth.
LIHXI mtet0le S 2AAO0ICH HI2AHAMXIOF EAIGH= XA et D2t0lefE «=&6i0FStCH. 0l cycleOlA
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JIDIB01 2otbs (X.C)e 2208 & = glth

39 ‘G82: | K.’
M CNCOIA &AHS0IHLI DNCE Soll M&E ZZ 30| delg=E =
ol «Drilling cycle with dwell (G82)»0IA Mmet0IEIoF 22 T2 08 S ACH 01242 OfE iet0lEIt &
| H2Y = UL,
Z 0| cycletlA & JHS IiCiOIE] 25 Z2 08 T/0{0F StCt.
I Maching depth
K Dwell at the bottom
HIEHA SXIAIZH&0! drillingZXds A& oA G81JIs2 AIEStCE GIZUIAMXIOF BEAIGtHE XIAIM T
ch Oiet0IEE £&olloFstCh. 0l cycledlA J1AHDJIZB0l 2oiLis (X..C)e Z203 & % QIChL

Tz O
(1=

39 o

J
H

ol

0040 ‘G83:1J.’

2 M CNCOUIA =AZ0IXLI DNCE Soll s T2 80| Adig=s Sot

&l 2l «Deep hole drilling with constant peck (G83)»0lAl mM2I0IEDJF 22 T2 02 TIUCEH 01242 o™ Oiet
OEHJ} AT HHEY & UL

ol 2 0 BF2 JAH= U3 g2 T2 ) &oH0kSHTY.
[ Maching deoth.
J Number of pecks.
OI2AMIAIXIOF EAISHE XIAIGI el TietolelE £=AolOokstC Ol cycleOiAl JIHDIIZ0l 2oiLlE (X.C)RXI=

T8 g = UL

0041 ‘G87 : I J KB [C] [D] [H] L] [V].
2 M CNCOUHM AEZ0IHLI DNCE Sofl d&sE ZT2)30| A= So
& 9l «Rectangular pocket canned cycle (G87)»0llAl LIZt0IEJF 22 T2 T QUCH MAIIsSE /el T
S 2
OlH ™ melole o W
cycle ItctOIEDF M6t HHOZ EHEYTI X AUCH
l 2 0l 82 JIHE OIS S T2 IO HWMOKSHCH
I Pocket depth
JOI2 BHE =2 el pockete SAMA Z2A2IDEXIC Hel
KMZ2 ®E =2 a2t pocketel SAINA 2A2I0X2 Hel
B MZ=2 E= maching 228 FO|&tC.
UHA MetOlES2 9AAO0ICH GIAMAIXIIF EAIGHE XIAIG Tet met0lel8 £=AoH0FstCH 0] cycleOl Al
JIADIS0l 2oLl (X..C)fIXl=e 203 & 4 QUL

-

0042 ‘G88 : | J B [C] [D] [H] [L][V]
2 M CNCOIA HAHSO0|HL ODNCE Soll &8 T2 80| agdL]= S0t
2 9l «Circular pocket canned cycle (G88)»0llAl IZt0IEIDI &2 =208 QUL GAJIssE |el
2L,
O™ HAE OHOIE I E-CH
cycle UIZt0IEII B&s FYo=Z HEG X AULH
ol 2 0l SF]Q JlHe= OS 22 T2 12H6H0FSHCE.
I Pocket depth
J Pocket radius
B MZ=2 2= maching 328 F2l&tl}.
U X DI20IES2 2A=0ICH GAMAXIOF Aok XIAIW Tel mel0IeE +=Aol0orstCh 0l cycle®lA
JIAJES0l olts (X..O)fXles 2208 & 4 UL

CtSt

ro

0043 ‘Incomplete Coordinate’

2 M CNCOIM &A=0IHLI DNCE Sofl ds&
& o O3S 22 O4IFKl K2l0] ULCH
AZSHI0lE L= M= Sot) A9 HE LB JIXID YHLE «circular interpolation (G02/G03)»01 HAM
Us SO arec BIXIES HooIA &1 A" SHEZ A2|HD ot AR

H

3ol &

02
i

=l

sor

—
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HEC JIXD E£= arc BHASE G Z1) FE2S (G02/GO3)S HEE M
o

of & 2 J2I0 2 s 2L

“‘G02” = “G03” JIs2 Z=EIY historylllA Ol2l Z20&E = JCH 0l L SHEADII| A Z2HL
EES} arc BXE SO AL 00F 80t HH2SS ohIfIA= “G0o1"S Z2 &S

2823 (G02/G03)S otIIGHA, 21 arc BHXNE SO+ 2T 0{0F S

0044 ‘Incorrect Coordinate.’
2 M CNCOIA =AZ0IHLI DNCE Soll &= T=2130| &
& o S 22 O2JFXl olol UL
SAILHA ZRE EF (G1 X20K-15)2 Alsisiei D UL
machining canned cycle (G81-G89) Machining depth2l ZZO0IA “I” T2t0IEJF WEECH
of Z 2F |00l Oist HZLyS OSy 20

1, 25728 EOIst.
2. 0l SR JlHe US &S =2 oH0FstCH

[ Machining depth

UHAl I2tOlESS L2AF0ICH GIAMAIXIIE EAIGHE XIAIG T2 met0lelE +=AoH0kstCH 0] cyclelll Al
JIAHDIE0l 2ot (X..ORX= Z208% & = UL

02
i

=l

=0}
[=)

—

45 ‘Polar coordinate not allowed.’

A CNCOIA &AHS0IHLI DNCE Soll M&&E Z2

9l «Programming with respect to home (G53)»21 &L, & E
artesian HHUA 20| H2lLULCH

H Z homedt JIAEt respect® JIAID T2 )& M, CartesianXtHE 2 T2 )|

g S

9

[=][}
0=
=
o
[w]

0046 ‘Axis does not exis.’

2 M CNCOUIA ZAHZ0IHHLI DNCE Soll dss T=230| Adig= S0t

& o S 22 OJHXl olol ULCH

ZMolX 2= =0 2AHE SHS Aol =252 JLHEM

I8, “G"Ils2 LI2IOIHE 6t =52 X448 O ole{or LABICH OlH2 &8 «G»I|s2 WRU =
OIE2 JI&l O{®E WetoIE o S8t 20|12 JIXLD YJ| IH=0ICH HESEH G69 I--B--

0l &2, m2t0IE “B”= “I” TS0 SHS Q0IZ JXD UCH Brer “1” T2I0IEJF IR CHY, CNCE “B"E
0 S0lM J1AHII20] 2oiths /X2 QIAIS 240ICH 2HeF 1 =0 EMoHK LOH, M2HAIXIDN gaist
20ICt.

of Z 2F |0l st oZeEe oS 20

M= = 0/80] ¥EstAl &It

EEJES #0I5l1, RE HY H20IES0] Z2IH0| SIA=X ISt

0047 ‘Program axes.’

2 M CNCOlAM =AEZ0|HLI DNCE Sofl s ZTZ2)30| ML=
g o =2 RFol= JIslA 0| Z2 L X UL

ol Z2 o™ HHFS0| =2 T2 IHU(REPOS, G14, G20, G21---)2 R SHCH

ot

—

Ol

ol

0048 ‘Incorrect order of axes.’
2 A CNCOIA HAHSO0|HL DNCE Soll &8 T2 80| adiL)= S0t
& o SXHHEI HEE HECz ZZ)HME Al LUAHL 22 220N 0| FH Z=2]38 ZAULCH
of 2 S0l 28 O3S 22 F&Es Z2 04 =HME RSt
X..Y..Z..U.V.W..A.B..C..
All axes need not be programmed.

0049 ‘Point incompatibile with active plane’

2 M CNCOIA =AZ0IXLI DNCE Soll &= T2 30| &
& o O3 22 odItK JA210] UCH.

ASE2r2 olell & M, active pathOl & 01 giCH.

activeOl 8= HZ WA tangential exit2 oted ] & O

02

=l

rr
O
<
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of Z 2F Kool st oZeEe oS 20

HO0| “G16”, “G177, “G18”, “G19”E€ JIX1 HoE AR, VSH2A2 1] BHE HOls =F0AL &
SIHXCH CIE HOA |SE2E Fodt)| fdiA= Olel 00k StCh.

HO0| “G16”, “G177, “G18”, “G19"8 JIX12 HolE H=L, corner rounding, chamfer, tangential entries/exits
E 1 BHE Hoote FHUAMO AMIAALCH CIE HHUAN A3224S oot fiM= D2l HeL X
O BtCH

0050 ‘Program position on active plane.’
ziost &8 g1S.(No explantion required)

0051 ‘Perpendicular axis included in active plane.’
nost &3 g918.(No explantion required)

0052 ‘Center of circle programmed incorrectly.’
ziost &3 g1S.(No explantion required)

0053 ‘Program pitch’
2 M CNCOIA =ZAZ0ILI DNCE Soll &= T2 30| Adig=s Sot
& 2l «Electronic threading cycle (G33)»0llAl thread pitchOfl 2t Hiet0IE Ot W CH
ol Z 0l Jlsol 28t ChSe T2 20 ZHE
G33 X..C..L..
Where : “L” is te thread pitch

‘Pitch programmed incorrectly’

CNCOIA HAS0IHLF DNCE Sofl M&E ZZ 80| dag= Sot
dlel2E2t0] 2RE gt = S(-)9 pitchE T2 &I AULCH.

0] JIsOl &8t OS2 T2 )Y LSS KOS

e s
iy o oz ¥

G02/G03 X..Y..I..J..Z. K..
Where : “K” is the herical pitch (&4 24

0055 ‘Positioning axes or Hirth axes not allowed.’
Zost 43 22.(No explantion required)

0056 ‘The axis is already slaved.’
zost 849 g1S.(No explantion required)

0057 ‘Do not program a slaved axis.’

2 M4 CNCOIA HAHZO0|HL ODNCE Soll &8 T2 80| agdL)= S0t

& o O3S 22 oItAl J2l0] UCH.

CIE =0l 3550 UASHA & =02 SA0|H2 & M

«Electronic axis slaving (G33)» G77 JIs2 AM&dl= 210 00| S£HN Y= E2 SSAPIHD & M
of 2 2 |210jl CHE sH2YLES OISk 20

58 F2 WEH2z YL QUL BHE |2 HSAMIIJ| fdiMd=E, 11 master = SHCO0F th S
A0 & =0] S&< AHOICH
MESAH, YEO XF0l S0 ACHHE, XS M) YES HSAI1I| AHAH X5 SZ0| T2 BT 00k &

Ct.
SN0 B2 F OIS GESFY A2+ 0 52 HAIPII AdikE “G78”
T2 ) HSHC.

mo ™

0058 ‘Do not program a GANTRY axis.’

2 A CNCOIA HHEZ0|HL DNCE Soll 83& T2 30| adc)= S0t

& o OIS 22 odItKl JA210] UCH.

GANTRY S22 A L2 H0 SN JULDHA =0 4oz AZA920 & O
GANTRY S0lAH &=2 Hololzin & M. (HH, Mgt HAZ22tS9| Ha|)

14



of &2 2 20l et o222 s 20

GANTRY =2 H=22 s&Y =+ gt GANTRY &= ASAIIJ| fdid= 10 2&EE =0l H=olof
SA0l & 50| SHLA0ICH

HESH, Y=q0| X2 H2E GANTRYSOcHH, X522 (XFI M) YS HSAIIII fAdiA X

|| HOF SHCH.
GANTRY =& machine Ii2t0IEI0 26 Q=L

SH0l 221

GANTRYZ FHo&E =2 38 = S&s &2 &= Qll. 0l S&2 GANTRYO 2&E =52 JiX

oI &t

0059 ‘Eje HIRTH : program only integer values.’

g M CNCOIA ZAS0|HL DNCE Soll M8 Z2J30| M8 s S0
& ol HIRTHEQ 3|&0| Bgils T2 08 SALH.

of 2 HIRTHEE 330l HE& X $=Ct 2=3L0I0{OFStLY,

-

0060 ‘Invalid action’
oost 43 g18.(No explantion required)

0061 ‘ELSE not associated with IF.’

2 4 CNCOUIA HHZ0|HL DNCE Sl 83E T2 30| adc]= SOt
& ol S 22 GJFXl olol UL

high level 202 &&= “IF’E 0lgl Z2 2ot “ELSE"HES
high level 91012 48 F “IF”DP TAHOE OH &iet Haty glol T
ol Z 0l Jls0 &st CiSe T2 Y ZsS KOSt

X| St [[H

EﬁE
208 DU

(IF (condition) <action1>)
(IF (condition) <action1> ELSE <action2>)

X20| Bt=E6HH, <action 1> AS#MEN210|1D, BHIHRIALR <action 2>J ASME ),

02

0062 ‘program label N(0—9999).’

2 4 CNCOIA ZdS0IHL DNCE Soil & TZ]-30| ddEe= Sot

—

& 2l high level A2 HAEZF, “RPT” = “GOTO” ZBHUA SEBSIE 0-9999 HIE HOHUAN T2

SIUCH
ol Z 0l Jlsol &8t CISel T2 242 ZWE KOSt
(RPT N(block number), N(block number)
(GOTO N(block number))

]

ESBS(label)2 0 OIA 9999 ALOICIOF StCH.

0063 ‘program subroutine number 1 thru 9999.
g M CNCUHIAM &AHZ0IHLI DNCE Soll dseE T2 80| Ados SOt

& QI high level 012 &AZF, “SUB” HHEOIA subroutine HEJF 0-9999 HAE HOLIA T2 T UCH.

of 2 0| Jlso &8t Chs9 T2 20 EHsS {96t
(SUB (integer))
subroutine H&= 00 A 9999AL0|{OF SHLE,

0064 ‘Repeated subroutine’

2 A CNCOIA HHS0IHL ODNCE Soll 838 Z2 30| aldic)= S0t

& Q2 0|0l trg Z22¥ HZ2H =Mot= subroutineS d2latei D L.

ol 2 CNC HZ2I0A AZ COE Z210=0 Zsto JUCtD siE 22 Al H
subroutine2 Mg = SIC.

fol

0065 ‘The main program cannot have a subroutine.’

2 M ASS0/HL DNCE Soll MsE ZZ s Ay
& o O3S &2 OItAl |2l0] UCH.

MDI &HZE0lA subroutine® &2l2{] RMCH.
subroutine0l FEZZ2 NN HlZ QUL

rr
O
o
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Of 2 2F |10 CHEt oHZBYE2 G 2L
M52 «MDI execution» S&E2Z subroutines= H2lg £ 8iCH
subroutinee MM E= 859 T8 O30 A2 0{0F St

0066 ‘Expecting a message’

2 A CNCOIM ZA&Z0|HLI ODNCE Sl M&E Z21)
& Q! highlevelz ZE 1A=, ZAIZAHXI= BIAIXII}
“ERROR” ¥&0| AHCULCH (?7)

of Z 0l Jiso &8t Chs2 Z2 22 EWHS K6t

80| &dh= sot
= XS MGt “MSG” E=

(MSG “message”)
(ERROR integer, “error message”)
CiS3 20| T2

o

=T QUCH
(ERROR integer)
(ERROR “error message”)

0067 ‘OPEN is missing’
2 M HZSF0/{LI DNCE Soll d&eE T2 30| A= Sot

& 92l high level2 T2 O2HYZE, “WRITE"HZHO0| ZLE|AXID, HBO0| AIRME D] 01X OPEN HHO| AL
Xl QUL

ol 2 2 “OPEN"HE 2 “WRITE” ¥ &

Al
=

o
02

oHlOFSH= CNC= “WRITE” HZEO0I&M0l ZHAZ 0f0F StCH (?7?)

‘

0068 ‘Expecting a program number’
most 83 gS.(No explantion required)

Il

69 ‘Program does not exist.’

M HSS0/HLI DNCE Soll e Z2)30| adLEe= s
Ol «|rregular pocket with island cycle (G66)» Ct)ll & &8t pocket2 A 2|dl= profile0l T
ZT=23 (T2H0lE “Q7)0 JACH oHAIeH, O TS Z=M6HK L=C.

Z mielDlE “Q"E islandsE JIEl £X &8t Hmet0IBeE A Qdl= profilel Ho8 E&Hst

8tCH. O WelDIE2t Z203 CQUOY, T2 )asEsE BeEA M6k, “S"2 “E” M0l ol 2ol
g otHs ol A0k SHCH.

%mmmg
r9

1o

0070 ‘Program already exist.’

2 A ASZF0/{LF DNCE Soll d&eE Z2 30| d3t= Sot

ol Aldligl= S0t (high level HHE Z2 0 3c=S0t) 0|0 EXole T2 &S 0S| o] “OPEN"HH
AESE O O] OidDF LB,

2 Z2)HHSE HIRHU “OPEN"EHO0M A/D L2I0IEE A28

L o i

where
A : Appends new blocks after the existing ones.
D : Deletes the existing program and it opens it as a new one.

0071 ‘Expecting a parameter.’
g M Z=Z0|J{LF DNCE Soll &8s Z230| AslEes
& o O3S 22 GIFKl &l0] ULCH
«Modification od canned cycle parameters (G79)» Jls2 A& M, =AU MOt 5t= L2t0IEIIF XIAIE X
AL,
machine parameter table0l A2 [f, 22 Hmict0le] HESIF LHEAJAHU (OO “P"SHOl SHEAYUAHLEY,
HIOI= ’—‘."é‘EEDP SHED| &0l CtE SO0l A UCH
6H 2t 2IoI0f CHEH cHZ2 e Gt 2L

G79’ %% oot AMM 2O Mz& gF =8t OtLlet =385 00F ot= WelbIeHE XIAZ o 0F StCh.
+=Ag Helle HSE =G 0| 2E= S| /ol [ESCIE 2L,

ot

—

On

0072 ‘Parameter does not exist.’
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2 M CNCOIA =ZAZ0ILI DNCE Soll &= T2 30| Adig= Sot
& 2l high level H02 Z28ocl= SO, “ERROR"HHEO0| BEZ AKX, HEAIE error HEI} 252LC 2
local It2t0lE E&= 2992C0H 2 global Hi2t0IEE JIXID HO &AL
ol Z 2 CNCOll 2l AF2=l= Uet0le= ChSt 2L
Local : 0-25
Global : 100-
299

0073 ‘Parameter range protected. Cannot be Written.’
Ziost &3 g1S.(No explantion required)

0074 ‘Variable not accessible from CNC.’
Ziost &3 g1S.(No explantion required)

0075 ‘Read—only variable’
2 M CNCOIM EAEZ0ILI DNCE Soll s T2 80| Adig= Sot
IEE HA0 8= EYotein UL

QIIME HeE IT2ME S0 01HE gt

< o
W re o

H
g
0Q
1]
1>
£Q
a
Q
=
J
Y
ro

LeHOIH O 2Egse QUCH

0076 ‘Write—only variable.’
Ziost &3 91S.(No explantion required)

0077 ’Analog output not available.’

2 A4 CNCUIA HHZ0|HU DNCE Solil 838 Zz 30| ado]= Sot
& QoI CNCOl 2dll &M AtE&ZE analog outputE J1Sote! 2 ML

of 2 HEE analog output2 = L= spindletlAd &M MBEHAHXLD JUS AOICH 10IM 8AOIS CIHE
analog outputE & E{SICE

0078 ’Program channel 0(CNC), 1(PLC) or 2(DNC).’

2 M CNCOIA ZZAZ0IHLI DNCE Soll A= T2 30| Adig= Sot

& 9l high level 902 T2 3&5l= SO, “KEYSCR” HE0| =28 = UXIS key so
ol Z "KEYSCR” ¥d2 Z=2 1ciUs [, key sourcedl &8t T2l0IE = &4 CS1
8HCt.

urcedt WMHECH
b 201 T2 0t

(KEYSCR=0) : CNC keyboard
(KEYSCR=1) : PLC
(KEYSCR=2) : DNC
The DNC only lets modifying the contents of this variable if it is «zero»

0079 'Program error number O thru 9999.’
2 M CNCOIA =AZ0IXLI DNCE Soll &= T2 30| Adig= Sot
&l 2l high level 10l ZTZJ&l5t= S0, “ERROR” ¥ 0| T2 08 TI/AKICH, EAIZ error HSIF WAL
of Z 0 HI 2Ast CISe T2 Z WS ROSHH.
(ERROR integer, “error message”)
CS 20| T2O38E £ ADH
(ERROR integer)
(ERROR “error message”)

0080 ’'Operator missing.’
Zost 43 g18.(No explantion required)

0081 ’Incorrect expression.’

2 A4 CNCOUIA HHZ0|HL DNCE Soll 83E T2 30| adc)= S0t

& high level Y0{E ZZ=J&6t= S0, expression0l Z22& LU=z =S QUL
ol SIS SIS

=

¥ re o

17



0082 ’Incorrect operation’

g2 A CNCOIA HAES0IHL DNC% Eolfl M= T30 Adh s SO
& o O3 22 eJtKl |10 UL

high level 202 T2 &ol= S0, u}EHIIIHOlI sgE gto| EXTIC.
high level 02 ZZ2 ) 86l= S0, subroutineS 2&06l= A0l =& &OICH
of Z LcI0IEo g2 &Yaol)| fI8t Eo T = subroutine RS =FSHC}

0083 ’'Incomplete operation.’

g8 M CNCUIA &HHZFO0|HL DNCE Soll &8 T28H0| Aldig= SOt

& o O3S 22 o4IFKl |ol0] ULH

high level 21012 T2 D 8ol= SO, “IF” 0| bracket AFOI2] Z=AHQI0| A EIRULCH

high level 210{2 Z2&5l= =02, “DIGIT” &0l OiE W0l &S Yotk &1 HLEUCEH

ol 2 2+ olof et B TS 20
O] HH0 28t 4S9 Z22HY ZWE KOSt
(IF (condition) <action1>)
(IF (condition) <action1) ELSE <action2>)
XAHO0| &0|H, <action 1>0| ASE210|10, BHHD

—_

auEg,

2>J
2. ZE2 OIS “DIGIT” H&EUH B 2= Miet0lE= 220 22 gtS XD Aot

IllI[[

0084 'Expecting “=".’

2 4 CNCOIM ZA&Z=0|HLE DNCE Sall 8&E
& QI highlevel A0l ZZ )85t S

ol 2 symbol “=" & A&tst AXI0 LASHCH

0085 ’Excepting “)”.’

2 M CNCOIM &=S&Z0IHL DNCE Soll ds&
& 2! high level 210 ZZ)&6t= %

ol 2 symbol “)” & F&sH X0 LSHCH.

0086 'Excepting “(”.’

2 M CNCOM &4Z0|HLI DNCE Soll ds&
& Q! high level 20 ZZ )86t =

ol 2 symbol “(* & &6 X0 LS.

0087 ’Excepting “,”.

2 M CNCOIA ZHASO0|IHLE DNC % Sl daE TZ20| AldlgEsE SOt

& o O3S 22 o24JFKl |0l0] ULH

high level ¢0{2 T2 ) &#dl= SO, % 22 LXISHK %= symbol &= GIOIEHIF =S AL
high level 20 Zg)gol= S0, ISO REIJF Z2 03 SRULCH

<action

]

i1 =
o, ES721 2XIokK &= symbol £= CIOIEIH S ZIACEH

symbol == GIOIEIDF Y& EIQULCEH

high level A& Z2 86l= S0, 2520 2 local Wet0IEH = 2992 CH 2 global WetOIE Ml 20|

e AL

of 2 2 J010 CHSt SHZE LS s 2CH
“” symbol2 HE&& X0 L==ASC

258 SAl0l 1ISO D=2 high level 10 S8
CNCOUIM AIE2E L2i0lee T3 2L
Local : 0-25
Global : 100-299

fll|0
e
o
e
1
50
Q

0088 ’'Operation limit exceeded.’
ziost & g1S.(No explantion required)

0089 ’Logarithm of zero or negative number.’

18
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9 & CNCOIA E&Z0/7iLt DNCE St M&E T2l A¥Es S0
2ol S(-)2 AW H(0) AU SAS FEEHE 0| TRIY FACH

s 2 F(0)2CH 2 (4 HAEC DM0EE JND SHE O, 1 DRIIES S &% £= J(0)2 2
PEac UCH MDOIEDF D 23S s HAS BUK LASX SIS

o

0090 ’Square root of a negative number.’

gt CNCOIA =X Z0I{LI DNCE Soll s T2 80| Ady]= Sof
& ol ()9 W HMB2 HitE E&tole 0| T2 3 T ALCH

ol 2 H(0)L2C0H 2 M=Z22F HAE 0 4 QUCH HelllesE XD &se 0, O melllels 8(-)Q & &
£ d(0)2 FggsS QUCH M2H0IEIE O g2 IHKe &S ZUR RUA=X &OISHT,

0z

0091 ’Division by zero.’
2 M CNCOHIA EHAZO0IHLI DNCE Soll &8ss Z2 80| Adg=s S0t
& ol d(0)ol elst L4 (division)S E&sl=s A

st &elol TR AT
# 2 200! OH T2 LeMS st A2 JhsEiCh DRIIIEE JHND SEHE O, 1 TRHIES S(-)
2 EE Y(0)2 27T 4T UCH MROIEDH 1 42 IIXE M2 BUK LUK eIst

0092 ’'Base zero with postitiive exponent.’

2 M CNCOIA =AZ0IXLI DNCE Soll s T2 30| Adig=s Sot

& ol H(0)0l negative exponent(or zero) Xl SItcts 241 2= =H0| T2 O3 E UL

ol 2 (02 H(0)2CH 2 positive expontentDHXl SOt £QUCH HISIOIEHE JIXD =g M, 1 metolg
= 2(-)9 2 = ¥(0)2 FE 45 UCH M2H0IEIF O S JIXls AS BUR LUA=X SIS,

—

0093 'Negative base with decimal exponent.’

2 M CNCUHIA HAZO0IHLI DNCE Sl ds&E Z2 30| A= S0t
9l negative numberJ} decimal exponent(or zero)JtXl Sotot= 241 e 20| T2 )
Z Negative number2 integer expontentItXl SI1=4 UCH OI2I0IEE JIXID =HSE O
(-)e gt £= H(0)S RFPEST QUCH OI2H0IEIF O 28 JiXle &Zds ZUX £g=X

EIACH
1 metile=
[¢]

SOl

00 & o

0094 'ASIN/ACOS range exceeded.’

2 M CNCOIA =AZ0IXLI DNCE Soll dseE T2 30| Adigs Sot

& 9l arcsine £= arccosine®l 20| +12 Xulote &S AHMGITE Z2HO0| T2 UL

ol Z arcsine(ASIN) E£&= arccosine(SCOS)2 +1 AIOIOIA HAHEICH HmI2I0IEIE JHXLD =S8 M, O It
OIHE 2(-)2 2t £&= g(0)2 2Fec QUCH H2t0IEd O g2 JHXe &gS ZUX EA=X Eolst
Ct.

0

0095 ’Program row number.’
2 M CNCOHIA ZAHEZO0IAHL DNCE Sl dsa Z2 30| adg= sot

g o F2E DHE A4S, windows “ODW” HPoz T2 ) X2, AJBIA window?l =<K
Jb HERLCH

ol &2 A4 windowll £EAX= 2L (0-25)01 2ol EOo|= L},

0096 'Program column number.’

2 M CNCOIA =AZF0I{LI DNCE Soll &= T2 30| Adig=s Sot

g o F28 Dz )d8g FAS, windowes “ODW” HHoZ T2 ) X[, A321A9 window?l =T <X

It bR Ch.
ol 2 A38l&2 windowl =ERAX= MZZ(0-79)01 2l Hl&CH.

0097 'Program another softkey.’

2 A CNCOIA HHES0I|HL DNCE Soll 83E Zz2 30| adc]= S0t

g o F2E Z2AS HHSF, “SK” g 28 T2 HEo0| DX LUCH
ol 2 E3=2S &0IsH0. T2 T S 20

(SK1=(text 1), SK2=(text 2)..)



text TS0l J1& “,"JF LHALJACH, CNC CLHE softkeyll 0122 QIAIEHLY.

98 'Program softkey 1 thru 7.’

M user channelilA &&=

ol EE7Z20 A softkeydt 1A 72 E= geIZ ZT28 &AL
2Z softkeye 10 72 HRANAN Z2 ST 0{0F SHCE.

g

99 'Program another window.’
M CNCOIA ZHAS0IHLI DNCE Soll &= T2 80| adigs Sot
Ol 2T 2 AAHZT, “DW” HHN 28 T27340|
2 S22 SIS0 T2l e 0w 20
(DW1=(assignment), DW2=(assignment)..)
assignment CFHS0ll “,”21&01 LS QULCIH, CNCE CHE windowll 0IE2Z QIAISIHTE

o g

00 ’Program windows 0 thru 25.’

A user channelOilAl &S3

ol SEEF20M windowdt 00X 258 He= B2 T8 AL
Z window= 00N 252 HANM ZZ2 &5 0{0F StCY.

o 2
©°

01 'Program rows 0 thru 20.’

M user channeltilA &=

EESI20 A JI2S(row)0l 00IA 202 HE YHAZ T2 H/JUCH
Z JI2Z(row)2 00lA 202 HLI0A ZZIC 00k BHC

o 2
re

"Program columns 0 thru 79.

user channeltlAl &S=

EEF120 A M2 (columns)0l 00IA 798 He "HAZ Z2 03 SIRULCH
HlZ<(columns)& 00IA 792 HLOAN 2S00k SHCL.

"Program page 0 thru 255.

user channeltlAl &S=

=572 20 A pagedt 00lA 2558 He HAZ Z2 18 EQULCH

page= 00IM 2559 HLINA Z2 1 (HOF StCE.

o S o @
Yo 0z & W ek

0104 "’Program INPUT.’
2 M CNCOIA =AS0IXLI DNCE Soll 5= T2 30| Adig=s Sot
2 2l high level 2012 T2 A5l= SO “IB” 0| “INPUT I 2t310] HA AL
ol 2 0] HAN 28 T2 PN HIoHS J|ASHCH
(18 (expression) = INPUT “text”, format)
(IB (expression) = INPUT “text”)

0105 'Program inputs 0 thru 25.”

2 M user channelOlAd &SS

2 o EE3220A inputOl 00IA 258 Y HAZR T2 UL
ol Z input2 O0IA 252 HANMN ZZ ST OF SHCY.

0106 'Program numberical format .’
2 M CNCOIAM &AZ0I2{LI ODNCE Sdoll dseE T= 30| ads= SOt
& 2l high level 02 T2 OQ&5l= SO, “IB” HHO0| non—numeric L2 ZAH L AL
of 2 O o &8 T2OHY TS J|ASHC.
(IB (expression) = INPUT “text”, format)
«format»2 6 entire digits2t 5 decimalsE2 Jt&l Y& =AE JXI12 JAX 0k StCh.
Text CH20Il “,"J1&0} YHEEUCHH, CNC= EUZS QIAISICH,

@ Ok

fujo
ol

]

0107 ‘Do not program formats greater than 6.5.’



gt M user channelfllA &S=
& 9l high level H0E T2 &6l= S0, “IB” H&EHO0| 6Xt2| 0|4 E= 5 decimal 0|&2 Loz =AMLY
Ct.
ol Z 0 ¥ 28 T2 2N HoHS J|ASHCH
(IB (expression) = INPUT “text”, format)

«format»2 6 entire digits2t 5 decimals2 JI& & =XE JIA12 U OF StCH.
0108 'This command can only be executed in the user channel.’
g Al AlSHIG|= =0t
& ol AlEXI=(user channel)2 SallADt A8E 4 Q= HYPE Tslol=s 252 ASMGID| {8t AIZI S
Ol &Lt
ol 2 Al2ZXHuser) ZZBUNIAL AL = F2Y T2 )30 28t SHS ZS0| ACH

09 'C. user : do not program geometric help, compensation or cycles .’
CNCOIA =AHZS0l/HLF DNCE Soll &8 Z2 80| dag= Sot
ometric aids £ &= tool radius.length compensation &= machining canned cycleE E&dl= =82
FI8t AlEDt BHSHRCH

FE2E ZZ]3U0AM olie S =203 & & SiCh

Geometric assistance £= S&

237 & A(tool radius) £&= 2 0|2 A(length compensation)
canned cycles.

Sz 2
e
JQ
—cn

0110 ’Local parameters not allowed .’

2 M CNCOUHM AEZ0IHLI DNCE Sofl d&sE T2 0| A
& 9l 2F2t9l J|=H0| global parameterg JHAld Z2&0 2 £ U
of Z global parameter= 100-299 H< 0l L&l

[==TJy Wy

=0}

ofnr

0111 ’Block cannot be executed while running another program .’

2 M MDI 2E0AN AdLe SOt

2l Ol user channel Z20&0| &S5l S0, MDI RPEE22H F28 HHS AMSSEID| |Ast A HENHR
Ct.

ol 2 =28 H=H(customizing instructions)2 user channelS Sl AIBH AlE £ FICI.

0112 "WBUF can only be executed in user channel while editing.’

2 M normal &8 £= user channel2 S&t Adltl= S0t

& ol "WBUF” & Isislei= Al&JF BFES O BICH.

of Z2 "WBUF” & & & QICH © X, user input® S8t editing stage®id AHZE L.

>.

=2
=
o
—

o OSE
llIZ M

0113 'Table limits exceeded.’

2 M table2 HAG=E =

& o S 22 G2IFXl elol ULCH

tool offset tableOlAl ML X0 2o A2E =XE2LH &2 tool offset2 Holdtd= Al=IF SHEOUFCH
Tiet0lE tableIA ZM6HK &= TH2l0IEE AL

ol Z tool offset B1S= ML X0 2o sIE= AZ2CH =00k BHCY.

0114 'Offset : D3R L | K.
ar table2 B&ol= =
& tool offset tableGllAl, HHZ EESI= YHO| DA LUCH
ol HES HHOR table WEIDIEHE S SHCH

Y re oz

A

0115 “Tool : T4 D3 F3 N5 R5(.2).

2 M table2 B &Gl S

& 9! tool offset tabletlAl, HEES EHAG= HAOl AHZ X LUALL
ol 2 ZH&st HE O table WelOIEHE & 8HL.



0116
ERY
2 ol

ol Z

(G54-

0117

=13 /\H
ol

=
2
=2

%-mru

bits)

1

8
/\OH
ol
o
24
=2

e 2

0119
g Al

& o

ol Z

0120 °

E g
ol
—

A
=2

o 2t o

0121
2 o
& ol

ol Z

0122
T
2 ol

ol 2

0123
TN,
2 ol

ol 2

0124
oy
2 ol

ol 2

D289 FX(rest)= L2AAOIC MetOIE= error [HIAIIIDP X &6t SE0AN BEEZ 00k

'Origin : G54-59 axes (1-5) .’

table2 E&dl= S

zero offset tabIeOlIA-I HO|Z|= zero offset (G54-G59)0| MEHL|X| LULCH.

HES HHOR table WEIDIEE USICE Zero offset tableE 451D M E & HOE offeset
G59)} 2t =(axes)Q zero offset XIS &St

"Function : M4 S4 bits(8).’

table2 H&GS= =
«M»J|S tableGiA ZES A6t OH2H0IEIDF D2 E X SQUCH
LS9 EWOZ tapleE EHESHLE
M1234 (associated subroutine)  (customizing

‘G51 [A] E

2ZSZF0|JLI DNCE Sl 838 T2 180| 8L = S0t
«Look—ahead (G51)» JIs0lA maximun contouring error0fl 28 met0IEE M= FCH
Oled EF/2 FH=2 0tcligtS Z=2_18& o{lOFStL.

: Maximun contouring error.

]
[w)

‘Leadscrew : Coordinate—error.’

table2 E&ol= =
leadscrew compensation(22H 0k, HE S &6l Di2i0IE= TH0IEIF DS X S UCH
HEst HHOZ table ICIOIEHE ST

P123 (Posttion of the axis to be compensated)(leadscrew error at that point)

Incorrect axis.’

table2 H&GI= &

leadscrew compensation(22H 0l A, 1 tablelt 2XIdl= 0| Oldl CI2 &2 HAH56iai 0 UCH

2t %8 leadscrew compensation0fl 2t8t 2t2t9| tableE JIXI12 UCH 2 =0 CHSt table2 1 =0l O

g

SIXIBH TSt AUCH

‘Program P3 = value.’

table2 HAEGI=E =
machine Li2t0IE tableOlA ZSWE EHESH= A0l DAZ X LUACH
HEs HHOR table IcIOIEHE SO

P123 = (parameter value)

‘Magazine : P(1-255) = T(1-9999).

table2 HAdI= S
tool magazine tableOllA EOWHS EEGl=E A0l DAHEX AYHL HIE GIOIE D WHFLLCH
HESt HHOR table HIZIOIEHE & SHCH.

‘Tool TO does not exist.’

tableE2 ®HAdI= =S
tool datalllAl TOLzE HALDI| {Ast A=IF = FLH
tool2 TOoZ B&E =4 ICH XS tool2 BHEAI T10|LCH

‘Offset DO does not exist.’

table2 H&ol= =
tool dataOllAl DOZ2 EACD| KAt A|ZI CHEH FCLCL.
tool offset2 DO= HAZE = QILt. ™S tool offset Bt=Al T10|LCH.

22



0125 ‘Do not modify the active tool or the next one.’

2 M A= S0t

& 2!l tool magazine tabletll Al active tool = IS AE HIRH= AIEIF HENHFLH
ol 2 AdE= S0 active tool £= OIS tool2 HIHOH A= QHECH

0126 ‘Tool not defined.’

gt M table2 T&GlE &

& 9l tool magazine tableOllAl tool tableOiA HZ Xl L2 magazine tool AXIE &Eole]
T

ol Z tool tableGl A tool2 & Q|SILH

rr
=
i
A
2
uin
2

0127 ‘Magazine in not RANDOM.’

2 M tableg BEGle S

& 2l tool magazine tabletlAl RANDOM magazine® 2111, tool 1S 2 tool magazine #XIJt 2 XIGHAl 2=CH.
ol Z tool magazine0l RANDOMOI| OtY [, tool IS = magazine 9 Xl(pocket number)2t 200k StCH.

0128 ‘The position of a special tool os set.’

gt M table2 TESIE &

& 2l tool magazine tableGl A special tool0l THoll =H|= magazine toolOlA tool2 AXIAIZIHAE AIE=D}F Ot
O [CH

o 2 magazineOll A special toolOl 3tLt O|&tSl /AXIE EKRotD U2 M, magazinelll EHIE AXIE JHX1D
QCH Ol |XINA CHE tool2 AXIE 4= giCt.

0129 ‘Next tool only possible in maching centers.’

g M table2 EEGE S

2 9l tool changelt M0622 Z218 T XICH J|H I maching center0| OFLICH (CHS toolOl giCt..)

ol 2 JIHII maching centerdt Ot-l AL, tool change= tool B1S «T»& ZZ2]fUE I NSEHCZ S=2E
Ct.

0130 ‘Write 0/1.’

8t M machine Ii2i0IEE TE

& o Wetolgo H2#2E S g%sras ANZ It
of Z mtet0lEl= Xl 0 £= 1

2
uin
2
{2
[w]

0131 ‘Write +/1.”
2 M machlne Let0IeE HAEs= 3
g 6

0132 ‘Write YES/NO.’

8 M machine Oi2t0IEIE HAEG= &
& o mtolHo 2RE gte #4956

of Z2 Im2l0le= SHXl YES £= NO g8t Jis6tLt.

E
rr
=
H
A
L=
un
2
2]
[w]

0133 ‘Write ON/OFF.’

g M machining II2tOIEHE B &Gl= &
& o mtoleg 22E gt =
of Z Wet0lel= =Xl ON

A fll|0
rr 0
o
m
m
w
=
A
or
ol
fw

0134 “Values 0 thru 2.’
0135 ‘Values 0 thru 3.’
0136 ‘Values 0 thru 4.’
0137 ‘Values 0 thru 9.’
0138 “Values 0 thru 29.”
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0139 “Values 0 thru 100.

0140 ‘Values 0 thru 255.°

0141 ‘Values 0 thru 9999.

0142 “Values 0 thru 32767.

0143 ‘Values 0 thru +/-32767.’

0144 “Values 0 thru 65535.’

2 M machine W2l0IEIE BEGl=E &

& o O3 22 odItK JA210] UCH.

oict0le ol 2RE g2 gdolele A= S A

ez T2 sI2EAN2B0 2 22 JHE subroutine(MCALL, PCALL)E RASULCH.

0145 ‘Format =/- 5.5.’

= machine LOI2I0IHE EHEGIl= S

& 20BN 2R S 8Ydleis AMEIF S0 R
ol I2l0leHE WS D& 20 58& 0

Y re oz

0146 ‘Word does not exist.’
Zest &9 g1S.(No explantion required)
0147 ‘Numerical format exceeded,’
g M CNCOIA ’—“.“5'§OI3'ILP DNCE Solf d&5= T2 0| Adlgs SOt
& Ol CIolEt £&= WelolEIt *EE LB 2 g0l EYERULCH
of Z ﬁa*—?‘—i—g EOISHCE U8 —‘?'—91 AZHIA, numeric EWE 5.4 AOICH (A4 52 A% 4)

0148 ‘Text too long.’

2 M CNCOUIA =AHZ0IXLI DNCE Soll &= T2 80| Adigs Sot

&l 2l high level d0i& HEZE, “ERROR” = “MSG” HEO0| 59 BC S SXDF =L UCH
EESIES EOISHCH “ERROR” D “MSG” HEHO0| 59 2L H2 SXF LS UL

0149 ‘Incorrect message.’

2 M CNCUHIA &EHAZ0|HLI DNCE Soll s Z=2 130 ade=
Ol high level 2102 EHEZ, “ERROR” = “MSG” HIE N AE 2 *OI R QACH
Z E-HIAEE I8t T2 Zoi2 OsSy 20

2o
r2

(MSG “message”)
(ERROR number, “message”)
HIAIXIE “7AFOIGI AC OF SHCE

0150 ‘Incorrect number of bits.’

gt M table BHES

& o O3S 22 oItAl J|elol AL

«M»J|s BHOU A sectionOlA coustomizing bitse=
SO} 8 bitJh OLICE.

HSII 0t 12 0120 UX &LCH

= AIEIF UULCH

of 2 2+ K010 CHEH aHZEYES Cisyt 20

customizing bits& OJJ 12| 8 digits2 RAEC}.
IlelDIE = 8-bit £= 16-bit HS 0 JlsoiCt.

0151 ‘Negative number not allowed.’
Zost &9 g18.(No explantion required)

52 ‘Incorrect parametric programming.’
M AElE = SOt

ol m2t0lH=E XNEE JIsS JHX1D &M A2 Qle g2 I UL

o ©
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ol Z program historyOll Al Iet0IEHE Z2& g2 JHXLD YO 0l Iet0lEE 1 &S JH& JIsoll HE6HAl
®eoz ZZHE +~FEHL

0153 ‘Decimal format not allowed.’
Zost 89 g18.(No explantion required)

0154 ‘Insufficient memory.’

2 M AMYEE=E Sot

& ol CNCE UERHSZ pathE HAGIII0 E28 H22IE JIX1D YUK LKL
of 2 JIZ, JI2XHS BHEG=2ACZ QoM errordt ErASHCE.

0155 ‘Help not available.’
e

2

HH ¢S .(No explantion required)

0156 ‘Don’t program G33, G34, G95 or M19 S with nospindle secoder’

2 M CNCOIM EAEZ0ILI DNCE Soll s T2 80| Adig= Sot

ol “G33”, “G34”, “G95” E= “M19 S”Jt spindletlA encoderdt &0 T2 UL

ol 2 spindle0l encoder€ JIXID UX &SH, HH “G19 §”, “G33”, “G34” L= “Gov"= Z2)HE £
8iCt. Spindle machine Ltet0IE “NPULSES (P13)”2 pulse per turn encoderl H&E Jtel2ICh.

o n

0157 ‘G79 not allowed when there is no active canned cycle.’

2 M NG = St

2 ol Z=Z9I canned cycle 20| «Modification of canned cycle parameters (G79)» H¥ S A&5di2{D L.
ol 2 «G79» YHRL canned cycle 2t2 +=38tCH. MetA, &SS2l canned cycle0l A00F dt12, “G79”& 1
canned cycle®] MZHUHUWA ZT= 28010k StCF.

01158 ‘Tool T must be programmed with G67 and G68.’

g8 M CNCUIA &HHZO0|HL DNCE Sl &8 T2 80| Aldig]= SOt

2l 9l «[rregular pocket canned cycle with islands (G66)»0ll A tool0l semi-finishing tool “G67” (3D pocket) &
£ finishing tool “G68” (2D/3D pocket) il 28t AR “G67” (2D/3D pockets) 2 HOIoHAl L QUL

ol Z islandE JI&l 7 =!8t pocket canned cycle2 &&At&Y “G67” (2D/3D pockets), semi—finishing tool
‘G67” (3D pocket)t finishing tool “G68” (2D/3D pocket)& T2 112 3l OFSHLE.

0159 ‘Inch programming limit exceeded.’

gt M ASCE SOt

2 2l millimeter2 &A= T2 2H0| inch ASiEA D UL

ofl 2 T3 XS0l G70 (inch programming) &= G71 (mm programming)2 &/ 2 &tC}.

0160 ‘G79 not allowed when executing before G67 and G68.’
oiest &9 21S.(No explantion required)

0161 ‘G66 must be programmed before G67 and G68.’

2@ M AL = Sot

2 ol AR “Ge7” (2D/3D pocket), semi—finishing ¢ “G67” (3D pocket) = HAX “Ge8” (2D/3D
pocket) 2t «Irregular pocket canned cycle with islands (G66)»S SZ&6IE2 O|d0 Z2IEHA ¥ T2
& T ACH

ol 2 =138 pocketE &HYE M, O|&N HIE cycleE EZZ &G OIMOU «Irregular pocket canned
cycle with islands (G66)»S S&6IEE T2 2430k SHCY.

0162 ‘No negative radius allowed with absolute coordinates’
2 AL = SO

H SXHNA Adol=s SO S(-)9 BHXES JIX S&0| T=23 SUCH
H SXNHEE S(-)9 HHXE2 =203 & = Qi

el

ol

Wy re 0z

0163 ‘The programmed axis is not longitudinal.’
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2@ M AYlEE Sot

& 2l «Irregular pocket canned cycle with islands (G66)» J|s2 AFE0otl= canned cycle0l A8 %= & (point)
IEE £Fs5tein O

ol Z “G79"2 JIXlD AlglE Ao HEEZE Mot canned cycleE £Aol= W2l0IBEE =T 0{H0F 8Lt
Olzist }EE HIRI| AN E MBS ZEQ T2 SHCE..

0164 ‘Wrong password.’

2 M protectiong Xl&ole =

& 0l passwordE 25lD| Al codeE S5t OI&0 [ENTER]OI s FCH
ol 2 passwordE &3dt)| fIHA sofekeyE AHESHLCE.

0165 ‘Password : use uppercase/lowercase letters or digits.’
2 M protections XI&ol=s &
& Ol passwordlil E2XR& JIEIJt LHE UL

ol Z2 passworde= =X (upper@ lower case) £= digit22+ &=L

0166 ‘Only one HIRTH axis per block is allowed.’

2 A CNCUIA HHFO0|HL DNCE Solfl 838 Z2 30| adL)= S0t

g o sSAtZEEo=z F I HIRTHES S&u datE S&0| T8 S /UCH

of 2 SAI0l CNCOIA 8t JH Ol&el HIRTHSO0| S& &= 2Lt HIRTHS2 & =0t0| S&6tC).

0167 ‘Rot. Axis position : absolute values (G90) within 0-359.9999.°

2 A AEGE=E SOt

& o A= XS EFole SZ0| ZT2IANHJALH SES BUFE(GI0)NA Z2I0E AN, SEH9 S
H(target)HHEE= 00IA 359.9999 H<ALHOI UX|I SCH.

ol 2 Postioning—only rotary axes : EUHEHNM SEH= 00A 359.9999 HALHUACH JrsS3SICE.

0168 ‘Rotary axis : Absolute values (G90) within +/-359.9999.°

gt M AlYCE SOt

& ol 3T S&0| TZIHEJACE. SH2 EFUHIE(G)0IAN Z2IBCYD, SEO| SH(target) HEE=
0 Ol 359.9999 H22{LHOl UXI RLCF.

ol 2 AE=E . HUHENAN SH2 00lA 359.9999 HLHOI AL+ JIs36HCH

0169 ‘Modal subroutines cannot be programmed.’

2 M MDI 2E0IA adic]= Sot

2l 0l modal subroutine® &&5t2{10 L. (MCALL)

ol 2 MCALL modal subroutine= HIs&& «MDI execution»0ll Al &l8E = SICH

0170 ‘Program symbols 0 thru 255 in positions 0-639, 0-335.’
Zost &9 g1S.(No explantion required)

0171 ‘The window must be previously defined.’

2 M normal &8 L= user channel2 S8 &A8&= S0

2 ol 0|M0l HoT X L2 window(DW)0IA ZAadled D L.

ol Z2 ol™0 HAZX %2 windowllA EHs6ls 242 E2JHsolCh O™ H2= (DW)HIA =458 <ol
windowE& E0I8tCE

2 L E S

2 o A¥E 8= ZRTIS Aot A

of 2 Adicl= 20 Uiof Z2 182 2S=Ch Adld T2 )30 FAAUX &I FAdHA, 28 columnlilA
X7 2XE HOIEH 0] 2 FHEHALY, Z2M2 AL X F=0.

0173 ‘It is not possible to program angle +angle.’



ze

o

A S .(No explantion required)

0174 ‘Circular (helical) interpolation not possible.’
oM AHEE Sot

2 9l «LOOK-AHEAD (G51)»0] HRUE S0t helical 2240 AlsiEZH D SUCH
ol 2 «LOOK-AHEAD (G51)»0] HMU= SOt helical 22t =IHs0olCh.
0175 ‘Analog input : ANAI(1-8) = =/-5 Volts.’

2@ M MG = Sot

& 9l analog input0l £5V BIRIE Y= g2 JHXI1D UL

ol Z analog inputO] £5V EH<{Wel g2 JIXI1D JUO0OF SHCH

0176 ‘Analog output : ANAO(1-8) = +/-10 Volts.’

g M AdgE= SOt

& ol £10V HRE Y= &0l analog outputlfl &&HE ALH.

ol Z analog output= +10V B2 gt JtXIL) UC{OF SHC

0177 ‘A gantry axis cannot be part of the active plane.’
Zest &9 @lS.(No explantion required)

0178 ‘G96 only possible with analog spindle.’

2 M AdL= SOt

& 0o “Gos”JIs0l T2 TUXISH, spindle speeddt HIOEXIZHLE spindleOl encoderE JIXID UX &
Ct.

ol 2 “GIs"Jls=2 ZHSAIII| Soll, spindle speed= HIOUHE0{0F St (SPDLTYPE(PO)=0), spindle
encoder(NPULSES(P13) zero012/21)€ JtXI1D A0{0F SHCH.

o

0179 ‘Do not program more than 4 axes simultaneously.’
Zost &9 g1S.(No explantion required)

80 ‘Program DNC1/2, HD or CARD A (optional).’

M BEHIASO|HU Adzs sot

0l high level 02 T2 ol= SQ, “OPEN"F “EXEC”HHEOIA DNC1/2, HD == CARD A 012/9
OIS =2 035ldD }HHLE 1 £= 2 0|29 g0l DNC IietO|E ol & UL

Z2 ESFEE OIS

=/

== O TS

0181 ‘Program A (append) or D (delete).’

g M CNCOIA HAZS0IHL DNCE Sall Mse T230] &

& o “OPEN"HEOIA A/D T2t0IEDF SiL

ol 2 E2372S =0IEH, I2 Y ZW2 CHSak 20,
(OPEN P ............... ’A/D,)

02
rr

ol

=]}
S

fIX :
AOIDl EZMot= A OS0H M2 25 FIIEHCL
DEMot= Z2EES ARG, A

Hu
Ho
Y
ro
=
>
o
w)

0182 ‘Option not available.’
g M CNCOHIA HAEZO0IHUL DNCE Soll 8 Z280| dg= S0t
&l 9l software option0l Ot «G»J|=0| &2 E UL

0183 ‘Cycle does not exist.’
2 A CNCOUIA HHZ0|HUL DNCE Soll 838 Zz 80| adige= Sot
& o “DIGIT"EE0AM, 0|28 £ gl= digitizing cycle0l A2 ULCH
ol &2 “DIGIT’YH2 SFIIX 539 digitizing?t JHsolCH
(DIGIT 1,-+) : Grid patten digitizing cycle.
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(DIGIT 2,-++) : Arc patten digitizing cycle.

0184 ‘T with subroutine : program only T and D.’
Zost &9 218.(No explantion required)

0185 ‘Tool offset does not exist.’

= ’e!! CNCUHIA HAHZO0|HLF ODNCE Soll MsE ZTZ 80| Adc)E=E Sot

& o EEIZ20A, MESX0l 2ol 5IE= oLt OlA2Q tool offset0] SEL UL
ofl 2 & O &H MZ2 tool offset® T2 12 5HCEH

>

0188 ‘Function not possible from PLC.’

2 M ML= SOt

& 2l PLCM Y (channel) J2l1] “CNCEX” ¥¥EE 0|2ol= AR E2H, PLC channel &A&2 JIXI2 MW =M
&4 Ql= Jlss8 Addidn O

ol Z installation manual (chapter 11.1.2)2 PLCZ Sdll A8t = J|ls 28 S=Eg HNZ2s8tCh.

0189 ‘The live tool does not exist.’
st &9 g1S.(No explantion required)

0190 ‘Programming not allowed while in tracing mode.’
gt

=], /&I->I AIGHEI‘— EOI-

& 92l «Tracing and digitizing canned cycles (TRACE)»Z &Olol= EZZ0U A, profile Hl0l SHUX LS

«G»J|s2 Z&ot= =50| UL

of Z profile 20l AIEJtsst «G»Jls2 L3 2L
GO0 GO1  G02 G03
G06 G08 GO09 G36
G39 G538 G770 G71
G90 G991 G93

0191 ‘Do not program tracing axes.’

2@ M A E S0t

2 ol “G23"J|s& AlE56t= tracing axes2 AolE =0| 0|ss6tdD L.

ol 2 tracing axes= CNCOl 2ol KO ECt Tracing axesE ‘off’ AI21J] oA “G25”J|=S AIE8tCH.

0192 ‘Incorrect active plane and longitudinal axis.’

2 M MG E SOt

& ol high level G102 T2 3M3l= S0 PROBE” HHE AIE6t= probing cycle2 &&86led= AIEIF YU
AUXICH H2=0| 422 active plane)dil = AL,

ol 2 “PROBE” probing canned cycledt X, Y % = SIHol 2ol 4= active planeOlA A ST UCH.
0193 ‘G23 has not been programed.’

g M AIBHG|= SOt

&l 9l digitizing “G24”JF EASIEIYAHLE, tracing contour “G27”0] 218 TIUAXIS, OIFAUl tracing HH

"S EHESAIDIN SUACH
COﬂ’[OUI’(E—.)E CIXIESetHU B#SAID1D| fdiMeE, f4& tracing B30| 243t 0{0F 8L

on =
8
Illh!oo

‘

94 ‘Repositioning not allowed.’
M ASE = SOt

Ol subroutined} interruption input=s ofLtE EASICIX LAUI IR0 “REPOS"'HHE 0lEdAH =2 AX
I:lEDo:lt_sl-A O'IEI.

Z “REPOS"EHH@E A&olI| &0, interruption input® oflL= &4 3T 0f0F SHCE

0

SN o T 2

v

‘

9

o
>

xes X, Y or Z slaved or synchronized.’
8= =0t

ol od

na o
0=
>
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& 2l high level 02 T2 1#5l= S0, “PROBE” HEHE= AIEdlE probing cycles Aldisldd= AI=IE QU
AXGH X, Y E= XF0| SHEHAJAAL SO ULCH

ol 2 “PROBE"HHEZ AN E X, Y, ZE2 S0 UK 2IAHLE, SIISE X LO0L0F 8Tt S
AKX 2| M E “G78782 T O3St

OB

0196 ‘Axes X, Y and Z must exist.’

2 M CNCOA =SZ0|IHLI DNCE Soll @—3—5' &l =

& 9l high level 012 T2 J&5l= S92, “PR = 4—@6} 110 RXIGH X, Y, ZE=S otLIIo UL,
ol Z “PROBE” HH= =S5l oAM= X, Y, 250l L 0F 8t

0198 ‘deflection out of range.’

2 M ML= SOt

& 9l tracing cycle “G23”0lA machine WZI0IE 0 Slol 22X E 220 X2 2 probe BEXIDF Ao LUCH
ofl 2 & O &2 probe BXE ZZ)SHC.

0199 ‘Rotary axis preset : values between 0 and 359.9999.°

2@ M XNETE LEW=E SO

& 2l 00IA 359.9999H A 0|22 g2 JI& rotary=2l TEDF Olel ZEHXIHALD UCH
Z 0ldl 83& rotary 52 2t2 00IA 359.9999 2 LHOI UXHOE StC}.

Ol

0200 ‘Program : G52 axis +/-5.5’

g M CNCOUlA ZAHZ0IHLI DNCE Soll dss T2 0| Aldigs S0t

2 ol «Movement against a hard stop (G52)»E Z=Z 2L & M, 0ISAZ &2 TZIGIA LUAHUL, &
el =0| T2l AL

ol 2 “G52"8 ZZHYUE M, OISAIZ S XEZ 00k StCH. SAI0l 8 JHS 0 T2 T 00k StCH.

0201 “Program only one positioning axis in G01.’
Zost &9 g18.(No explantion required)

0202 ‘Program G27 only when tracing a profile.’

I:II- /&I->| AIoHEIE g(l)_}

2 9l tracing contour (G27)0] &g A XIS, tracing JIoOI 2Xt2l = 3XK0| OFLICH

ol 2 2X = 3X|AOZ tracing = d|g|t|2|ng «Definition of a tracing contour (G27)»JIS2 BIEA|
A o|T|0{0F StC}.

0203 ‘G23—-G27 not allowed during INSPECTION.’
Zost &9 21S.(No explantion required)

0204 ‘Incorrect tracing method.’

2 M Aldlg= S0t

& 9l manual tracing “G23”0| Aldig= S0, «follower»=2 jog key £= electronic handwheelZ2 X&&ted D
St

ol 2 manual tracing0| &/&8& M, follower2A X&E =2 0 2dl SEWECE 1 LIHXI= jog key &=
electronic handwheel2 Z& &L},

0205 ‘Incorrect digitizing method.’

2 M Adg= SOt

2 9l Point—to—point digitizing0| 2T X8 CNCE jog modelt UXl LCH (CHAL, AIE0I
ol ACH

ol 2 Point—-to—point digitizingE &&otJ| ol A= CNC= jog modeOl A0{0F StCt.

x
HA
rr
|

o
Ho

0206 ‘Values 0 thru 6.’
8t M machine Ii2i0IEE HE
2 ol = m2iolEUE &

0



of 2 Wet0IE= O0lA 6At01S g2t Sl S<=ILt

0207 ‘Complete Table.’
2 M table2 EHAESGH=
2 ol «M»I|s = tooI offsetnt 2&d= table0|lA, machine parameterOl 2loH X=Xt QI?_ 20 %
2 OIOIEE &E2lolell MLt DNCE Soll table2 22{=2 M, CNC= 0|&2 tableZ AMNMGHA &1, EXiot
= 22 22 WHIGIL, tableQ free positiontIA MZE g2 =S AISHCE.
ol Z OIOIE <2 machine Li2tOIEHN 2o = =10 22 G340 20| HSHECH
Maximum number of «M» functions
NMISCFUN(P29).
Maximum number of
NTOOL(P23).
Maximum number of tool offset
NTOFFSET(P27).
Maximum number of magazine positions
NPOCKET(P25).

DNCE Soll MZ2 tableE =22, O0|& table= A{HIE 0Of0F

o

Ct.

0208 ‘Program A from 0 to 255’

8@ M MG = SOt

2 91 «LOOL-AHEAD (G51)»JIs0iIlMd H2lole “A"(EESZ0XE JISES %)JF 25580 2 e T2
S UCH

of 2 mal0ly “A”= U9 =O|Ct. otXISH ZEZ YAl O0IAl 255AH012] 2tS JFMOF SHCY.

0209 ‘Program nesting not allowed.’
F A AlBIG| = =0t

ol &= T2 WA, HZO0IM “EXEC” B E JIX CIE T2 0] “EXEC” HEo=Z Alsiggll]
ol 2 [ Z2 )82 “EXEC"YHE0| adicEsE Sottle T2OHoZ28H SEE 4 i

[0 ng

Ct.

|1
s

v

0210 ‘No complensation is permitted.’

2 M CNCOIM &A=0IX{LI DNCE Soll dsE T2 30| Adigs S0t

& o HHE2ss Z&6tn U= E=0A, tool radius compensation (G41, G42, G40)E FHASIHU &SH
20 L

ol Z Tool radius compensation2 Et=EAl A8 2=(G00, GO1)0A HXIHLE THA OFSHCE.

0211 ‘Do not program a zero offset without cancelling the previous one.’

2 M AdE= Sot

& ol th2240l ol0l Had X A= s «Definition of the incline plane (G49)»JIs€ A5t A= incline
planeE AQdtd D LCH.

of 2 MZ2 incline planeE &2olJ| RdiM=, 4 01X S AS FHAOF 8Lt Incline planeE F A
olJ1 fIoHAl, Met0IE Q0| “G49"E2 T2 ) &stCh

0212 ‘Programming not permitted while G48—G49 are active.’

2 M ML= St

& 9l high level 90|12 T2 OAsI= SO, Jls “G48” = “G497IF HNUE=ESOH, “PROBE” HHS JHE
probing cycleS & &3t ] FCh

ol 2 digitizing cycle “PROBE”J} X, Y, ZS0A S&HEZUCH M2tA, “G48” = “G49” JIs0| &dE O
XXl 20Ok StCH

W

0213 ‘A second spindle is required for G28, G29, G77 or G78.’

2 M CNCOIA =AEZ0IXLI DNCE Soll A= T2 30| Adigs Sot

& 9l “G77/G8”2 synchronize spindle E£= “G28/G29”2 work spindleE Ad&stei) X8 machine2 st
M2l work spindle2t JtX11D UCH

ol 2 8tHel work spindle® JIXID JASH, “G28, G29, G77, G78"J|s2 Tz aHs 4= QL.
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0214 ‘Invalid G function when selecting a profile.’

2 M profile2 Et&tol==

& 9l profile2 Ptatol=SE A8iE =SS 1ASU, profiled2 0l ZoiUX L2 «G»DEE L &Gt=
‘=‘§O| OIEI.

ol Z profile 2J0AM 0I2IIS8 «G»I|ls2 LS 20

G00 GOo1  G02 GO03
G06 G08 GO09

G36 G37 G38
G39 G90 G91 G93

0215 ‘Invalid G function after first point of profile’

2 M profile2 gHetol==

&l ol profile2 BtetolI)|Rol HMEHE SZUH0I, Jecl2 profileQ starting point F0l, profile& 20l ZHoiUX &
2 «G»DEE L&ot= =50 UCH

ol Z profileZ20lA 0I8Jts8 «G»Jls2 UsSu 20

G00 Go1  Go02 Go3
G06 G08 G09

G36 G37 G38
G39 G90 G911 G93

0216 ‘Nonparametric assignment after first point of profile’

2 M profile2 PHEtol=S

2 0l profileS vHatal| ol A= E2UH0, O2l0 profileQ starting point S 0, nonparametric

&Het0| high level @012 Z222 S| ACH (local or global IItZt0IEH)

Z2 B& Jhs8t high level @&0H0| local M2t0IE (PO OIA P25)2t global Hm2t0IE (P100 GIA P299)0il

g0l AULCH

ru&"%m

0217 ‘Invalid programming after first of profile’

2 M profile2 BHEtoI==

& 9l profilea BHEGID|RIOH H8iE U0, 1l profileQ starting point F0il, 0| &&=

high level 2=0| UC}.

ol 2 g JP%E high level 2@&08t0| local Tt2t0IEl (PO OlAl P25)2t global THetOIE (P100 OIA P299)0il
=0l QUCH

0218 ‘The axis cannot be programmed after first point of profile’

2 M profile2 EHEtoI=S

& 9 profile2 BHEG)|AH A SSELHA, 2l profileQl starting point S0, 830 HoiUK 2
S0A X 2 ZRUCH ProfileQl starting point F Ol Surface EI ZZIUL

ol Z profileQ surface &HE= X2 profile?l starting SEHAMCO & £ UL AR profile2l starting
point2t LXIst= A.

0219 ‘First point programmed wrong when selecting profile’

gt M profileS &eol=

& oI profileQ starting pomtJ} g T2 G/UACH O /AXE HQ
ol Z profileQ starting pointe &4 Y% (active plane)2 R4H6le &

}
He

ik 3 Ct.

OII

\J
lonr

0226 ‘A tool cannot be programmed with G48 active

2 M AYEE=E =0t

& QI«TCP transformation (G48)»J|s0l HM U= S0t tool changedt T2 T ACH.

ol 2 TCP transformation0] HH U= SCHU= tool changee ZM& =+ gLt Tool changeE dIIIfIi A=,
L& TCP transformationS F A 8tLI
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0227 ‘Program Q between +/-359.9999.’

2 M CNCOIA =ZAZ0IXLI DNCE Soll &= T2 30| Adigs Sot

& 2l «Electronic treading (G33)»2|1s 0l A entry angle “Q”JF £359.9999H<E YU geg T2 8 /UL
of Z entry abgle= +359.9999¥AUIZ T Z 18T 0{0F StCH.

0228 ‘Do not program “Q” with parameter M19TYPE=0.’

2 M CNCOIA =AEZ0IXLI DNCE Soll A& T2 30| Adigs Sot

& 9l «Electronic treading (G33)»JIs0IA entry angle “Q”JF ZZ21& EZAKIBH 0/EIts8t spindle
orientation? &FJI 0] &=S2 SIS3HAl L UCH

ol 2 entry angle2 FH2GIJIRI1 A, spindle machine I2t0IEl M19TYPE(P43)2 BIEA| «1»2 & Al 0FStLH

0229 ‘Program maximum X’

0230 ‘Program minimum Y’

0231 ‘Program maximum Y’

0232 ‘Program minimum Z’

0233 ‘Program maximum Z’

2 M CNCOIM &AEZ0IXLI DNCE Soll s T2 80| adigs Sot

& 2l high level A2 ZZ2 ) &cl= SO, “DGWZ"HHUN A SAHXEOl S2HEAHL, non—numerical gt 2
ol T ULt

of 2 SH=2S &elstlt.

0234 ‘Wrong graphic limits’

2 M AlEGE S0t

& o ‘DGwzrddo=z Fold ololstH otLiob AoIstHECH 2 gHO0IL
ol Z2 SISt AHIECH AN graphic display areall AIQISHAHIE T & )& SHLL

0235 ‘Do not program the axis in tangential control’
Zost &3 g18.(No explantion required)

0236 ‘Do not program the longitudinal axis or this of the active plane.’
Zost &9 213.(No explantion required)

0237 ‘Program values between +/-359.9999.

2 M AlEEE=E S0t

& o 58= FNUAECH IAH G30 offset0] Z2 18 UL Gl G30 D380
ol 2 offsete +359.9999=H 2 LHOI ULO{0F StLCH.

0238 ‘Do not program G30 without synchronizing the spindle in speed’

A AHE=E S0t

& ol 22 SIgtE A2 JIXX &1 “G30” offset®ll A spindleE SJISHAID AL FUCH
Z R4, GT7SE AME68l= 5&E2 spindle2 SJI3HAIZILH

0239 ‘Do not synchronize the spindle while the “C” axis is active”
2 A ML= Sot

2 2l spindl& SJIstAIZIeiD XIS “C"=0| 43X UL
ol 2 XISez “C'sg g4dsgstih.

0240 ‘Do not activate the “C” axis while the spindle are synchronized’

g M MG = SOt

& 9l spindledt S NHU=E SO, spindleE SIISHAIZIE = AZIF JASUCH
ol 2 24, spindle synchronization (G78 S)& F AL,

0241 ‘Do not program G77 S, G78 S if there in no encoder at the spindle’

o M AEEE SO
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2l 2l spindle (G77 S £= G78 S)1t encoder == Sercos feedbackE JIXID UX f2 HE F olLIE S|
StAIDIel= RUCH.
ol 2 spindle & C} encoder £= Sercos feedbackE JIAI1D UOI0F StCH.

0242 ‘Do not synchronize spindle with M19TYPE=0’

2 M A8 E=E S0t

& 2l spindle (G77 S E£= G78 S)1t I2t0lEl M19TYPE=02
ol Z spindle 2 C+ m2t0IE MI9TYPE=12 JtXI12 A0 OF st

0l

I RE S oLt SJIgtAIIle = L.
Ch.

0243 ‘values 0 thru 15.

Zgs £

£

2.(No explantion required)

Block PREPARATION AND EXECUTION ERRORS

1000 ‘There is no enough path information.’

2 M A= SOt

& 9l tool radius compensation, rounding, chamfer &= tangential entry £= exite & &06tJ| {8 =20
ZEE 2 22 238 T30 Z&totn UL

of 2 0248 HYS +8oIDIRHA, CNCE +8& HZE D2l 200K 222, 88 H20 Uist &
20l & S0 48712 =SEECH 2 X OHFILCE

‘

0

—_

Plane change in rounding/chamfering.’
o= Sot
“controlled coner roundign G36” E£&= “chamfer (G39)”2l HCQIE 2= A20 plane changelt Z2
ZIQALCH

Z rounding £= chamfer& &&dl= S0, plane® B6HK 2=CH Rounding =& chamfer? &2 O3
Ol &&= rounding == chamfer®t 22 32tH U OFSECEH

Qe 2
IE o >
M e 0z

[¢]

1002 ‘Rounding radius too large.’
o M A= SO

&l 2l “Controlled corner rounding (GBG)"JI%OHA-I T2 84 rounding BHXIS0| Hold o Z=22 L+ AL
ol 2 rounding EtAIEE 1S FQst ZZECH ZOHOFSHCY.

1003 ‘Rounding in last block.’

g M A= SOt

& D229 Ot B2 EE= rounding £= chamferl &2l CS2e A2 2sdd EE2E CNCIF 22
4 oS W “Controlled corner rounding (G36)” & “Chamfer (G39)”JF &2l &Lt

ol 2 rounding £= chamfer= S Ji2 ZZA0I0A A2 Z|0i0F StLI.

1004 ‘Tangential output programmed wrong’

2 M AEEE SOt

& 2l tangential output (G38)2 &Aoo & 01501 |AHZZ0|CH

ol Z tangential output (G38)2 F2l0ll & 0|2 HEZZ0{0F SHCH.

1005 ‘Chamfer programmed wrong.’
g M Aelig= SO

&l 2l “Chamfer (G39)2] A2l & 0l&0| FEAFZ0ILCH.

ol 2 chamfer A0 2 0152 HHEABAZHOF SHC.

1006 ‘Chamfer value too large.’

o9 M A= SO

2l 9l “Chamfer (G39)"2IS0AM, T2 S chamfer 2401 Hole F=R2| 2LC ALt
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ol 2 chamfer size= 1A E H2dl= ZZCH &O0LOESHCE.

07 ‘G8 defined wrong.’

/&I;I /él% EI‘— EOI-

ol S 22 IRl K210l UL
“Arc tangent to previous path (G08)"J|s2 AI2olA 2FEH |0 T2 N HLUS M

tangent 22Jt 0|FA RO & T= 1 HEWA(ZRHCIRINA)NA 252 O

island& JI& £ A&8t pocket canned cycletlAl, profile (G00)2l AlIE Holo ME SS0AM “G08"JIs2 =
IS M

ol 2 2+ olof CHet aZEerHe CisSoh 2Ch.
“G08"J|Ise 2FE }S T2 #sE A2 DX
Tangent 22& 0|& F=29 HOIL O AZEA(RHE
CNCE 0|dE =20l 28 HE810], tangent arcE & &

[ ne 3

Eelh
OO 2L OHEICEH
SiCt.

‘

1008 ‘There is no information about the prevous path’

2 M ML= SOt

0l “G08”"JI=s= AIE2dlAM Ol HZEZZ arc tangentES T2 3o XILH, 0| HZ0 &8t FEI| QICH

ol 2 OIMEZE tangent BZZ AME5HI| oA, OIMBZ0 CHEE HE2IF JANOE 5t tangent 20 &2
482 =00l ACOF BCH.

o

1009 ‘There is no information for tangent arc in pockets with islands.’

2 M ML= SOt

& 2l islandg& Jt& E7&et pocketl profileE® &oole 52 &E&0U A, tangent arcot =2 184 & A X[ GF,
o0 OI0IEIE S AALE 0| B=20 Us S28 21 8l

ol Z profileE &d26t= UIOIEE & QIS

1010 ‘Wrong plane for tangent path.’

g M Adc= SOt

& 9l “arc tangent to previous path (G08)” 1t O|& HZ A0 plane changelt T2 & £ ACH.
ol Z plane= S MS HZA0I0IA BIH X %=L,

1011 ‘Jog movement out of limits.’

2 M AL = SOt

& 2l incline plane, AAHD 2Ol Al tool AXIE HAS =, HHAIL JOG keyE
AXICH tool2 HHHMSHH 2o HoE 22tLH0I SCH.

off Z cho*-'—9PLH_J tool2 AXIANZ = Y= =2 JOGStL.

=
00
Q'E
X
i
[0
o
oin
ol
o
kJ

1012 ‘G48 cannot be programmed while G43 is active’

I:II- /EJ_; AI%HE"— EO}»

& 9l tool length compensation (G43)OI HHRU=E S0, TCP (G48)2 ‘on” A2l O,

ol 2 TCP transformation (G48)2 ‘on’atJ|l foi A, TCPII 0l101 O AKSl A& tool length compensationS
M6l UI| 20l tool length compensation2 OFF Z/ 0 AUO{0F SHCE.

1013 ‘G43 cannot be program while G48 is active’

gt M AYC= SOt

& 9l TCP (G48)0] HHU= =9, tool length compensation (G43)2 ‘on’ Al LI

ol 2 ‘on” AlZ2i1 ol= tool length compensation2 TCPJF 0l01 O AKS 210 S&& tool length
compensation® &35t UJ| =20l TCP transformation (G48)0l ON AMEHQI SOotijl= HE £ 2ICH.

1014 ‘G49 cannot be programmed if it's already active’
EQst 49 g1S.(No explantion required)

1015 ‘The tool is not defined in the tool table
2 M AlEEE=E S0t
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& 2l tool changelt &2 EIAXICH tool tablelll M2 tool0l HolT Al QUL
ol 2 tool tabletil MZ& toolS & 2|&tLC}.

1016 ‘The tool is not on the tool magazine’

29 M ML= SOt

& 2l tool changedt A ol&| A X2t tool magazine table2 X0 MZ& tool0l T Xl UL
ol 2 tool manazine tabledil MZ& toolS & 2|StCt.

1017 ‘There is ho empty pocket in the tool magazine’

2 M AEE = SOt

& 2l tool changelt AL AD XI2 spindledl A= tooldll CHEF Bl(empty) pocketOl SiCH.

ol 2 Ol0t=, MZ2 toolOl tool tablelll E2Z FH2IZIAL magazinedl 1HE 28t otLIS pocketZ Ct
%0l QUCH 0l218t Z2, toollt CHE tool0l Ol HE AIZ2IIsst O AXIJF & EC 0] error2 Lo Hdl,
Bl pocket(RXI)2 tool magazine®ll EHA U010k StCH. (?7)

1018 ‘A tool change has been programmed without M06’

2 M AL = SOt

& 0 tool2 RIIE I CIAl 20 M060I T2 T X| LACH

ol Z 0l error= cyclic tool changer (ZEH& 21 machine Lt2t0IE CYCATC(P61)=YES)Jl U=

machining center (2 8t& 01 machine LIt2t0IE TOFFMO6(P28)=YES)0I Al ZASICE 0l 8t A0, tool2 &S
Ch30ILE TiSARE 2I|H™0l tool change= m062 &S SHLI.

1019 ‘there is no tool of the same family for replacement.’

2 M AYEE S0t

& 2o RAE toolQ real lifedt 11 nominal lifeE =L CNC= 22 familyll CHE StUE JHALD A2
wWHSA D #XCH HEAE 2 5 QIRULH

ol 2 tool2 WAHIGHHLE 22 familyQl C+E SHLIE &2l &0

1020 ‘Do not change the active or pending tool using high level language.’

2 M AME= SOt

2 9l high level HHZ T2 dt= SHO|AHLE BHE6l=E “TMZT'E AME0dl= =, magazinelll &M E£= Cf
S22 4ol L.

ol 2 AEol=s tool £= U322 Aot fHA “T"IlsS AMSsC B3ole “TMZT' & LSl tool
= OSAHE magazine@ 2 0ISAIZ £ QICH

1021 ‘No tool offset has been programmed in the canned cycle.’

g M Mg = SOt

Ol tool EH0 28t “PROBE” canned cycledl 22 C|AXICH MEHZIH A tool offsetOl SiCH.

Z “Tool calibration canned cycle (PROBE)”S A&3IJII6HAl, tool offset= probing cycle 2EJI H&EE
0l HEHZ|OI0F BCH.

Y S0

1022 ‘Tool radius programmed incorrectly’

2]

2

o

A 213 (No explantion required)

1023 ‘G67. Tool radius too large.’

2 M Adg= SOt

& 2l “Irregular pocket canned cycle with islands (G66)” 0l A, BFXIS(radius)0l &AI&Y “G67” (2D pocket)E
OZ2= R 2 tool0] HEHT QUL tool2 pocket HLCINIE S0HZ %= QL.

ol 2 &2 BIXIE2 toolS &ESHCH

1024 ‘G68. Tool radius too large.’

2 A AEg= SOt

& 9l “|rregular pocket canned cycle with islands (G66)” 0l A, BHXIZ(radius)0l AR “G67” (2D pocket)
O2= P 2 tool0] AHLQAUCH JIHEHAS OCIAIE HIZ profile2t island2l profileAFOI2 H2lJt tool XIS
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20 &L

of 2 X2 BtXIS2 toolE & & BHLL

1025 ‘A tool with no radius has been programmed’

2 M AMG = SO

2 91 “Irregular pocket canned cycle with islands (G66)” 0l A, (GB7/G68)Z+ 0| BHX|
ol Z tool table®iAl tool H2AE =&HolHL 1O HY=S |T CIE 218 LSESHCH

an

8Lol

IH
Hu
I
0e
n
0
[w

1026 ‘A step has been prgrammed that is lager than the tool diameter’

g M Adg= SOt

21 ol “Rectangular pocket canned cycle (G87)”, “circular pocket canned cycle (G68)”, “irregular pocket
canned cycle with islands (G66)2 =0k, “C"T2H0IEJF =0l AFESE tool ECH 2 20l Z2208 ALK
ol 2 =2322 £F&t0. Machining step “C"= tool XIZECH ZHLE 20L0FSHCH.

) »
’ ’

‘

1027 ‘A tool cannot be programmed with G48 active’

2 M AL = SOt

9l tool changedt «TCP transformation (G48)»J|s0| HNMU= St T=28 QUL

Z tool change= TCP transformation0l HMHUE SCH0l= RAXIE == 8L Tool changeE SHEJ| A,

& TCP transformationS #F A 8tHCH

10 S o

1028 ‘Do not switch axes over while G23, G48 or G49 is active’

2 M AL= SOt

2 2l “G23”, “G48”, “G49”J|=0l AMYU= St = £ = back (G28/G29)Jt switch overotdd= AIEJl BHS
Ol " CH

ol 2 “G23”, “G48”, “G497J|s0| HHUE SO =2 nsE

ot

= QL

1029 ‘Do not swap axes that are already swapped.’
2 M A= S0t
& ¢ 0|0l CtgAnez HiA

=2 nE(G48)otel= L
of 2 010 GIEA2ZE uaeE |2

HNEW S22 HHE =+ . 4 0|lFA2Z NE I OFSHCE (G29 axis)

1030 ‘The “M” for the automation gear change does not fit’

2@ M AMYE = SOt

& ¢l XS gear changeg AMEZE, 7 “M” JIsit “S” Jls(gear change?t &@E)0] T2 T ACH 0|t
A0 CNC= 1 220l XS gear change0ll 28 “M"S L& 4= QL.

ol &2 2eld 220 ‘M IIs “S"IIs2 T2 ST

1031 ‘No subroutine is allowed with automatic gear change.’

2 M A= S0t

& ol XIS gear change2 JIXI2 Ae JIHO gear changell 23 = spindle & “S”"9 O 2=
subroutineg2 JI& XIS gear changell “M"JIs2 Z=HYUE M

ol 2 XS gear changeZ2 JIXI1D YUS [, gear change® YXIdl= “M"I s A 2HE subroutineE
Jt& 4 giCh.

1032 ‘Spindle gear (range) not defined in M19.’

2 M AMYEE=E Sot

& o “‘M19”JI Z208 TAXISH “M41”, “M42”, “M4A3”, “MA4” = StLtE HMHUKX 2L

ofl 2 80| HANMU=SO CNC= HE HAL 2bF61A 2= MietA gear change Jls

(spindle parameter AUTOGEAR(PB)=NO)0| AISHOZ M X U=CtH EBX gear change J1s (“M417,
“M42”, “M43, “M44”)0| Z2 1B 0JOF BICH.

1033 ‘Wrong gear change.’
(=13

g 4 AMEE Sor

2 O OIS 22 O2IJtX |20 ULk

==

0
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gearOll &8t J|Al LI2tOIEIQt gear changeE St=d1 /=S M MAXGEAR1T, MAXGEAR2, MAXGEARS,
MAXGER4 &30 ZXREIRUCH. ZE gear(range)dt AFSEAl LUD, AIBEX LS 22 0 rpme 2 DEEZ
SA AL

gear change (“M41”, “M42”, “M43”, “M44")E T=2248 M PLCIt HAS ES=0l gear A15(GEART,
GEAR?2, GEAR3, GEAR4)E SY0olXAl L ULH

Ctsa ZCh
UIDHSl gear 2SE AIEGHA 22 M, A2A2 “MAXGEAR1"2 starting2Z AISTI0IAHOISI) AFSSHAI Z2
0

A

69

1034 “’S” has been programmed, but no gear is active.’

2 M AGE=E SOt

2l ol spindleE AlZSl2d= X8 geardt HEHT ] UXI ACH

ol 2 0| HMAJU=ESO CNCE o™ HAE 2+=5IX L=C. [MetM spindle speedS T2 248 (et 2
gear chang J|s(spindle parameter AUTOGEAR(P6)=NO)0| AISEHO=Z YME Xl LS, 2% gear change DI
s (“M417, “M42”, “M43, “M44”)0| =224 0{0F BtCH

1035 ‘Programmed “S” too high’

2@ M AMEE=E SOt

Ol OIXNY =S gearlll 2dl SIS g 20 S2US JHXD “S"IJF T2 € QUCH
2 O %2 spindle & “S’E T2 SHCH

Qo

6

1036 ‘”S” has not been programmed in G95 or in threading’

2@ M MG E=E Sot

2 9l “mm(inches)/revolution (G95)” E£= “electronic threading (G33)”0] =224 T U X| Bt

spindle T &S UK AL

ol 2 “S”2 mm/revOllA E£&= electronic threading (G33)0ll CHoH ZS6HD| A =2 T 0 OFSHCH.

1038 ‘The spindle has not been oriented.’

2@ M AMEE=E SOt

2 9l threading cycle2 ES=Z0! spindle (main £= secondary)tl E2Z2AI2IX 10 ;LN XD st 210|
Ct.

1040 ‘Canned cycle does not exist’

2@ M MDIZEUIM A8iE= SO

& 0l canned cycle (G8x)2 &l&lisl= St T2 )2 S5 planeE HIECHS Wl canned cycle (G8x)2 &l
sigled ] & m

ol 2 canned cycle0] &8tl= Sl Z218S SHotH Z=C0h

1041 ‘Mandatory parameter missing in canned cycle’

2 M AEE=E SOt

& o OIS 22 OItXl |Q10] UCH.

“irregular canned cycle woth islands” Ol A 01 Ttt0IE It Bk BT

2D POCKET

AR “G67"0A Ietole 1" £= “R70l 8iCh.

EARA0| A0, FARY “Ges"0l LtetOIE “I" £= “R”0l SiCH
3D POCKET

SHAA “G6770l L2t0IE “I” E£&= “R”0| giCh.

EHAMXIOIQ| 941, semifinishing &Y “G6770I A T2t0IE “I” == “R”0| 8iCh.
EtALR! O£ = semifinishing &0l 8110, AR “G68”0HA “I” = “R0I iCh
AR “GE8"UHA = metdledF eiCh.

2. “Digitizing canned cycle” 0l O™ met0lE Dt gLt

ol 2 Tmet0Iee HolE &olstCt.
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Pocket with islands (& &+ &H])
islands& D&l 27138t pocket canned cycleGiAl I2t0IE “I”

[ “R”S

OIA T2 00k S0 EAMRIAQ| @lodH, MAXA(2D) L= semifinishing 2L (3D)UHA Hol g
. Semifinishing &&/(3D)0| od, HAXMANA HI=0{0F 8Ct. 3D pocket®l A H2t0IE “B"= &
AN AOIE|0{0F SHCH.

o 1R
r

Iz
22
re
20R

StAFXE
=

FX
N

Digitizing cycles

g=72s =
QIBICH ZRIHY EWS TSI 2L

(DIGIT
1,X,Y,Z,1,J,K,8,C,D,F)

(DIGIT

2,X,Y,Z,1,J,K,A,B,C,F)

042 ‘Wrong parameter value in canned cycle’
gt M AlSiE = SOt

A o OIS 22 o2IKl el0ol ACH

“Irregular pocket canned cycle with islands” 0l M, EAIE “GE8"0HIA EHRE g2 FoZIUSM, OO,
QK(+)2 gtBt DM OF St= H2t0IE ol S)(EEsE F(0))2 80l EYEIULH

“Irregular pocket canned cycle with islands” 0l A, drilling &2 (G69)MIA Tet0lE “B”, “C” = “H”IF &(0)
o2 HO AL

rectangular (G87) &= circular (G88) pocket canned cycleGiAl Wa2t0IE “C” E£= pocket 2= (dimension)
£ oL F(0)22 FZRUALCH.

H5= peck (G69)2 I “Deep hole drilling canned cycle” il Al IH2HOIE “C"JF H(0) 22 HO|TALH.
digitizing canned cycletilAd ZX& 2t0l m2tDIE 0 SSZACH OI0tE, 2(+)2 2t JHXOF ot= HmtetDIE ol
S()(E=s F(0)Q 2ol LEIALC

ol 2 met0IeS HolE &olstCt.

Pocket with islands (& AFZ+H21)

“Q” Tietole 0, 1
T= 2 0 Jbs
“B” miciolE 0 012
O g0t Jis
“J” o2tolg 20
ALZ2E toolQ BIAISE2LCH =0L0k StCh.
GRID pattern digitizing
“B8” mtetoleE 0 BCt
2 28t Jts
“c” metold 0 012
o g0t Jis
“D” mOietolg
0 £= 1 gt J+S3EICH
ARC pattern digitizing
“J7er “‘c” It
IS 0 20 2 ¥(+)2 et dts
“K”, “A”2 “B”
ntetole Qk(+)9| 2t8t JIs06lCt.

1043 ‘Wrong depth profile in pocket with islands.’

2 M AL = SOt

& 2l “Irregular pocket canned cycle with islands(3D)” 0l A

&2 contour (simple or composite)2l & £&2| depth profiledt A2 wXFStCH

Contour= Z2_12& tool (spherical path with non—spherical tool)& JtXI10 Z0Ial4= 8L

ol 2 22 contour? £ 229 depth profile= AE WXtEt4 QICH B0, depth profile2 plane profile Ct
S0l H2Z00F ot 22 starting B2 5 profileOlA AIFEZI O HOESICH, HEHE toolQ Z0| Zz)eHE
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depth peofileOfl CHoH =& QIX|l & QIEHCEH

‘

1044 ‘Plane profile intersects itself in a pocket with islands’
2 M AEEE=E S0t

=2

& 9l islands& JI&l pocketE ACot= profile@ AU, profilell otLiJt O XtdlS WAFSHCH

ol 2 profilel A2IE &OISCE IslandE JIH&l pocketl profile= 1 AMME wWXHE QiCH

1045 ‘Error when programming a drilling operation in a pocket with islands.’

g M AdgE= Sot

2 9l “Irregular pocket canned cycle with islands (G66)” 0l Al, driling0ll &t8t 2401 OlYl canned cycledt T2
& T ACH

ol 2 drilling ZY0llA, canned cycle “G81”, “G82”, “G83” = “G69”2F T2 | 0{0F SHCI.

1046 ‘Wrong tool posotion before the canned cycle’

g8 M ASg= SOt

2 QI canned cycleE S&& [l tool2 reference plane?t 2&3Z otLt2l final depth EEALOIO I XIRUC.

ol 2 canned cycle® S&& [, tool2 reference planeE 1loll ? XI=/0{0F StCI.

1047 ‘Open plane profile in pocket with islands’

g M Adg= SOt

& 9l islandZ JI&l pocketE &°2lote profilel A& LN, profiles otLIJL 22 HOUHAM AMEGID 2LEX SEU
Ct.

ol & profilel HCIE &QIEHC}. IslandE JIEl pocketE A2lot= profiles 22L& 00FSICE. Error= “G00"S

JHXI1 profile= 2l oL AIRCHS Ol “GO1701 Z2 S XIX LA 20 LS C

1048 ‘Part surface coordinate not programmed in pocket cycle’
(=13
=2

2l 9l pockete] SEEHIXITI}I geometry A MS(first)BOUA T2 E X A UL

of 2 ESX=0| &8t CO0IEl= pocket profilell X HoI=20 AT 00k SHCH (EUXEA)
1049 ‘Wrong reference plane coordination in canned cycle’

2 M AEEE=E S0t

2 9l “Irregular pocket canned cycle with islands (G66)”2 =0 Al reference planel ZEDJ}
QF A= oIS final depth EHIEAOII =XHSHCE.

ol Z reference pane= part surface= Lo |AXIZI {0t SCH Ol errore part surface positionOl

T2 -EAD| 20 1S YMSHC (pocket HEROIOIEl= BUEEZ Z2 S {0F SHCL.)

1050 ‘Wrong value to be assigned to a variable’
2 M AEEE=E S0t

2 o MBHIIEE Aot 2, WS =2 Jhol 2ge
i 2 MHOIED O 20l BHS0IA 252 SEWS [ 24S JINDUK ¥SAS

historyE & 0QI&tC

1051 ‘Wrong access to PLC variable.’
2 M AlEcE SOt

& ¢ CNCZ2H, PLC Z2J30IA H2AZX &2 I PLCE A= AMZIF S FCH

1052 ‘Access to a variable with wrong index’
2 M ML= SOt

& 2! high level {2 ZZJ&6=
HE JIXLD =T ACH.

of 2 CNCOl 2o AtEE mWetileH= ChsSdr &0

=

==Xe}
S

Local :
Global :

39

&0151D| fIolA program

ot &HQ| 25L2LC+ 2 local LIEl0IH £= 2992EF & global ntet0|

0-25
100-



299
O g2 g WtilE= &0 ALSg+ 8L

1053 ‘Local parameters not accessible’

2 M user channelOilA &3c= S0t

& Q! local LIEHOIEHE AIEBot= &S JP =53 ddotde= AMEIF ISR

ol 2 user channeldilAl A8E= T2 2 |ocal II2t0IEI(PO OIA P25)E JINIESE 6|20tk Z=Ct.

1054 ‘Limit of local parameters exceeded’

2 M AEE = SOt

& 9l high level 90{Z T2 36l= SO, 620 22 nesting level0| “PCALL"EE S JIXID AMEEACH 65
Ct X2 S&0| “PCALL” HEZS AIEdl= 22 looplidl SHSO{ R CH.

Z subroutine2l 15 nesting levelLH0ll local LtetOIE{0 CHOH =ICH 6 nesting level NtAI2H JHsotCH “PCALL”
HE2 SE6l= A2 MZ2 local W2t0IEI(2F subroutine) Ol &8t nesting level2 MASHLEH

g &

1055 ‘Nesting exceeded’
2 M AL = SOt
& 2l high level A2 T2 &dl= So, 15820 H2 nesting levelOl “CALL”, “PCALL” = “MCALL” &

£ XD AIES-UCH 1580 22 S&0| “CALL", “PCALL” = “MCALL” HHEE Al=26ts 22 looplh
01I DF:OP‘*I:}
i Z2 15 nesting level@t al&stC. “CALL", “PCALL" 2t “MCALL” ¥d=2 s =ol
i S,

rr

28 MZ& nesting level2

> Ol

0

1056 ‘RET not associated with subroutine.’
2 M AEEE SOt

Ol “RET” HHO| &AL AKX, 1O O/l “SUB"HHO| MK LULCH
2 “RET” H&(subroutine)E AIE5dIJ| 8 M, subroutine® “SUB”Z JIKIZD AIZ6HOFSHCE.

Qo

1057 ‘Undefined subroutine’

g A M= S

01 A (CALL, PCALL---)0l CNC HI2el0l oL UAX 22 subroutinedl 2HES N FCH

¥}

ol 2 subroutine® 0|20| H&stAl O2l12 CNC HIZ2I0l subroutinedt Z=Mat=X &QlsiCh (§&0] JUs
RO 22 TZNHAE AN =0}

1058 ‘Undefined probing canned cycle’

g9 M Aag= SOt

2 0l “PROBE” HHEES AIEE M, AI2&4 Q1= probing cycle0l &HC| & ULH

ol 2 AI2Jts8t “PROBE” canned cycle= 10IlA 97HXIOICH.

1059 ‘Jump to an undefined label’

I:él- /&I-)I /éI%HE|‘— EOI-

2 QI high level 9102 EZZ2g5l= SO, “GOTO N---” HE0| T2 CUXCH, T2 22HS(N)I}
SiCk.

of 2 “GOTON---"gdge Z2 Y & m, 1210 2ol =82 22 Tz a0 H2 LT 0o stCt

1060 ‘Undefined label’

8@ M AHDE Sot

2o OIS 22 o2IHKl Q10 UCH.
high level {2 Z2 ) &ol= SO “RPT N-N---"H&EH0| T2 /AKX T2 3 SEHS(N)IF Sk
“Irregular pocket canned cycle with islands (G66)" Al “G66---S+-E”S Z22HE M 12l profile2l Al
T= Z2 Jost- doIe= oLt gict.

ol &2 2 |00l diZ=2 Cisy 20

“RPT N---N---"HE S T2 aisr [, 10| HEol= 52 22 T2 03 =00t

roh
Q
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T2 HS IS Profile 2 Z20IA Met0IH “E”0 &8t labelt XS0l Met0IEl “S"0 &8 labelS =
=Ch

1061 ‘Label cannot be searched’

2 M MDIZ2EOIAN 8= S0t

& 2l high level 2012 T2 &6l= S0, “RPT N--:N--” E£= “GOTO N---” H&EHO0| HO L AL
oil Z MDI 2E0IAM A8iL= Sot, “RPT” E‘— “GOTO” type HEES Z=z)3g £ QL

1062 ‘Subroutine in an unavailable program.’

I:Il- /\H AISHEI'— EOI-

2 21 CNCOll SJoll AF2E0XID Y= T2 0] KA XISt subroutinell S=0| SHEO R L.

ofl 2 T2 )3ES olEol= DNCIOt Z0t2 MDAl JICHeICh Subroutinedt Xt MEECHH, S0 IZ )0
M&EAIRICEH

1063 ‘The program cannot be opened.’

2 M AL = SOt

2 02l infinite 2E0A T2 0| ASE = SO “EXEC” EHEE AMEdts 8 ANS2L2H L2 infinite
TS AMdld= AMTIF SO R/CH

ol 2 SAI0 3tLES infinite Z& chBH A@ECL

1064 ‘The program cannot be executed’

2 M AEEE=E S0t

& 0l “EXEC” HHEE JIX OEZHOZERH T2 s Aldisldd= AT SHENHEX
HOZEH X O UALH.

of 2 “EXEC” YHE AL A8 T2 E CNC HI22l0 QAo{oket, AlsiIIsal 0FstLt.

o

1065 ‘Beginning of compensationwithout straight path’
2 M A= S0t
& 9l tool radius compensation (G41/G42))2 ol

Hgt: HHS2H0AH2 H SALU0| A& SS0| OtLICH.
ol Z tool radius compensation (G41/G42)E dlAIgtE ZAZ2HHALS H S=AL2

X & 2S0[0{OFBtLE.

1066 ‘End of compensation without straight path’
2 M AlEGE=E S0t

& 9l tool radius compensation (G40)2 A= =HH22HH AL = S2 0| ZSH2S0[ OFLICH
ol Z tool radius compensation (G40)2 dllHIgtE A 22H0AH2S & SEU2 HHSS0|0{0FsHCH

1066 ‘Compensation radius too large.’

t”' /éj_; AI%HEI‘— EO}

& 9 tool radius compensation (G41/G42)S &Y SH, tool 2CH =S BHXES JIX UYE PIXIE0] =21
SIACH

of Z2 &2 BXSES I tool2 AMESECL Tool radius compensation2 &M=, arc BHAIS2 toolQ AHE
Ct HOFSICH, BHHO, tool2 T2I3E HAZE HSe £ QUL

1067 ‘Compensation radius too large.’

2 M AEE=E S0t

& 9l tool radius compensation (G41/G42)& LS, LHE BIXIZS0| toolQ BIXNISECH & T2 S ACH

ol 2 YIXS2C0 &2 tool2 AEEHCE Tool radius compensation & Al, arc BIXIS2 toolQ BHXISECH H
OFSICH, D XYCH tool2 EZ2Ooi=l HRE ZAst £ Qi)

1068 ‘Step on linear path’

2 M AL = Sot

2 9l tool compensation (G41/G42) =Y Al, profile2 tool XIZ0| U HA J|HZ=HE S = RHR2E D}
X0 UL

[
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of 2 & O &2 2tXNS= It toolE ME

o

Ct.

ro

1069 ‘Circular path defined incorrectly’

[
0
o
nx
02

2 S.(No explantion required)

1070 ‘Step on circular path’

2@ M AL E S0t

& 9l tool compensation (G41/G42) &ds AME M, profile tool KIS0 UE HA J|HZ=LHESL Qs =
&322+ curved section)S JPII_’ QULCH.

ol 2 & O &2 BIXIES JIX toolS AFESHL.

1071 ‘Plane change in tool radius compensation.’

B M A= SOt

& 2l tool compensation (G41/G42) &S AlssE M, CIE2&P32H0| &AL

ol 2 ZH22ts BABIDIAGNA, tool radius compensation2 off (G40)E/ 0 U0 OkSHCY.

1072 ‘Tool radius compensation not possible with positioning—only rotary axis.’

2 M A= SOt

& 9l tool radius compensation(G41/G42)2 JI&l positioning—only axis2 0|SAI2|gl= AI=JF LSO R L
ol Z tool radius compensation= positioning—only axisE &l &3&lXl Z&=C. Tool radius

compensation2 F A0 A “G40"S ArSolct

1076 ‘Coordinate angle programmed wrong.’

I:ll- /\H /\I%HE|L EOI-

& 92! angle-coordinate formatOlAl ZZ= 1Y
planedt XYs2ez2 FHEHJUL, XF &0/ 90°=2
ol 2 &ololn =FSICt

S0 29 A Z=IHGIULH (WESY, main
4 EACH)

St
=
il

[,
23

1077 ‘Either the arc radius is too small or a full circle has been programmed’
9 M A= SOt

& o OS 22 oedItXl |A010] UCH.

“G02/G03 X Y R” formatE AtZot= full circleE Z2 21U g [
“G02/G03 X Y R” formatE AtEolAd Z2IUE M, arcl Z&NXL Helor T2 A circle?l HALCH
AC.

of 2 2 |20l diZ2 G &L

0l format2 full cwcle% OrEJ|01 AHEE s 8Lk Starting pointtl A2l 221 &2l end pointe HEE X271
=S

circle?l &Z2 arcQl end pointhtXlQ Hel=2CH HOSHC.

1078 ‘negative radius in polar coordinate’

9 M A8GE=E SOt

& ol S22 STHUAM HYSF, negative radius= I end positionClA 250| alsig UL

ol 2 S22 SXREE T2 USI= A2 negative radiusE SI5HXISH BIXIZ9 end point(BOl)= 2 (+)9
22 JHAOF S0,

1079 ‘There is no subsorutine associated with G74’

2@ M AMEE S0t

& ol S 22 GJHXl felol UL

£+ZO2 PE axesOlA home2 #2210 AT XIS, home searching sequence (order)& XlAlote &S
subroutineJt SiCH.

“G747JF =203 T AXI2H home searching sequence(order)& Jt2l3|= subroutinedt 2ted0| 8iCH

ol 2 2 |00l 22 Cisy 20

“G747J|1s2 AN E 2 subroutinedt 2R3

OT2UIA “G74"0F A8 J2B, home searching order= &2l &l0F StCE.
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1080 ‘Plane change in tool inspection’

g2 M “tool inspection” option2 AldiEH = SOt

& ol work plane0l BIRAULD HSE CIAl AIEGH| M0l HSA0l MEE X L UL

ol Z tool2 ZAtolI| OIE0 EH3l HHU=E planes HSS CHAl AIEGHIEM N & E O OF
1081 ‘Block not allowed in tool inspection’

gt M “tool inspection” optionS AL = Sot

& ol “RET” HHE Aldislde AITII BHEURLC

ol Z 0l HA2 “tool inspection” optionGlAl AlsHE £ gLt

o
[w]

1082 ‘The probe signal has not been received.’

2 M ML= SOt

& o S 22 O2JFKl K10l ULCH

“PROBE” canned cycle® ZZ2 22 & [, prove= probe &SE Bt= CNC8I0| cycle® maximum safety
distance(X|ItE HE)E S=0|X =L

“G757JIse Z2I2HUE m, Z2EW =LA CNC= probeZ
parameter PROBERR(P119)=YES)

of Z 2 |00l dHZ2 Cis 2L

probedl SHIZH HZEHON Y==Kl OIS

Maximum probing distance= safty distance “B”0ll 2/Z8tCH (PROBE cycleCGliAl). 0l HelE SIIAI2I10] SidH,
safety distanceE ZJtAI2ILC.

PROBERR(P119)=NO%, 0| error= probe dSE 29X 2D Z&FH(end point)0l TEHOH TALX §=
CH(?7?)

ir
o
=
fo
U
nt

Xl UL (general machine

83 ‘Range exceeded’
M A= SOt

ol axisC 0l&H2IoF HS 21, Z2HE feedratedt LR AL
2 0 S0 ol S O e £T=2 ZTEI-SHCL

Qe g

1084 ‘Arc programmed wring’
2 M AEE = S0

& ol S 22 |00l UL
HOIE end pointE Soll 24 = “G02/GO3 XY |J'E AMESOIEE arcot TZ2IHIUS M

lineGlIA AIPHSl EOIQUHU OARE FIU 22 20l YE “GOIXY [J'E AEdt=E arcE T2 & M
g4t S2tHl UK EMotK &= 2= A0 rounding tangential entryE & &1dtei 2 AIZE T

tangential exit® T2 Y &M CIS AZD} tangential exitE® XM= 22 HstD ULCH

ol &2 2 |0l dZ=2 OS2

EEJEE EQISICH 29 XE T= BIXE0| EX HOZO UL

arcE Aool= HMIINSl H2 AZ Z2i0F 6t linedtol US4 QUL

OI0F “G16”, “G177, “G18” E= “G19’2 planedl HOL UL 0l2dst B L, corner rounding, chamferet
tangential entry/exit2t 1 planeE &2|dtE main axisOlA S8E 4 UCH CHE S2H0IM &SatI| fIaiA, 2
Ol &0l H2lZ0f0F BtCH.

tangential exit C+S2 F2J} HallUS 4 AXIGH 0|F H=29 HE M A(straight line)0ll U2

4>

ALk

1085 ‘helical path programmed wrong’

2 M A= SOt

& 2l “G02/GO3 XY IJZK'E AI26l= arc2 TZIAE [, T2 IAE arc)t &8 2JlsoiCh T2 e
helical pitchZ= J6t= =010l S&& o 8L

ol 2 SES522 &Q2I&tC). PlaneWlA 2l Interpolation2 =0I2t end pointe ZHEE= D& helical pitch2t &
20 UCH(??)

1086 ‘The spindle cannot be homed.’
& 9l spindle machine parameter REFEED1(P34) = 0.
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1087 ‘Circle with zero radius’

2 M ML= S0t

& o O3 22 K ItXl JAQl0] AUCH

“G02/GO3 XY I JZK'E AIE0l= arcE ZZ2 038 M, arc? BHXIS0| E(0)2 2teg Tz 13 Z|ACH

tool radius compensation &S & [0, WS arcLt tool2 BIXIS 22 g2 T2 AL

of 2 2 |2l sHZ2 TS 2L,

A(0)2 BIXISS JIXN arce oIEHX %=l HO)ED 2 grS T2 ST

tool radius compensation &2 & M, arc BtAIE2 tool2 BHXIEELCH HOSICH Q8K RF2H, tool2 2
e B2 E &S84 QU (bacause to do so, the tool would have to make an arc of zero radius)

1088 ‘Range exceeded in zero offset.’

I:II- /\H AI%HE"— EO}»

& 9l zero offsetdt Z2 1AL, end position2 &0l LS AL

ol 2 zero offset(G54-G59)0l &&= 2t0l LE=Xl EQISILE. Parameter2 AI2dls ZZ2OZEH zero
offsetd}l g2 ELEIUCHH, parameterat | M&E5X| 2oI8ICH Absolute (G54-G57)2 incremental (G58-G59)
zero offset0| T2 & E/UCHH, & g2 &0l machine HstE =St =X &QISHCE

1089 ‘Range exceeded in zone limit.’
2 M AMEE=E Sot

& Ol parameter2 JI& zone limit “G20” = “G21"2 T 1 3& M, parameter &2 1 JIsWHAM S
Z| D20 HOFSHTE.
ol 2 limitS ——|O|'E ESW LIS M parameterdt 1 g2 JIXID YUK &L2X A5 &olsl A
program historyE &9

ol
=

1090 ‘Point inside the forbidden zone 1.’

g8 M Al8ig= SOt

&l 2l “no entey” zoneZ2 A& work area 1LHOI XISt BNFX axisE OIS AI2|I] K8 AlTIF SHE O FICH
ol 2 program historyOll A, work zone 1 (G20/G212 H2I&)Jt “no entry” zone (G22 K1 §1)22 &F & ULt

0l work zone2 F A5 AoAdE, “G22 K1 80”8 Z2 &0},

1091 ‘Point inside the forbidden zone 2.

g8 M Ag= SOt

2 2l “no entey” zoneZ H = work area 2 WOl XIS DX axisE 0ISAIFID| |8 AIEIF SO RCH
ol 2 program historyOll A, work zone 2 (G20/G212 A2J=)J} “no entry” zone (G22 K2 S1)22 &AL ULH.
0l work zone2 F A5 HollAdE, “G22 K2 830”2 Z=2 &0}

1092 ‘Insufficient acceleration for the speed programmed in threading.’

l:ll- /EJ.; AI%HEI‘— EOI-

& 0l threaddt T2 E AN 2ot HU I8 S28 22Hroom)0l 8iLCH
ofl Z2 88 2 st TS

1093 ‘Only one Hirth axis can be moved at a time’

]

2

o

&3 S .(No explantion required)

1094 ‘Probe calibrated wrong’

e
[0
]
nx
02

g12.(No explantion required)

1095 ‘Probing axes out of aligment.’

gt M probe calibration &S

& 9 cubell &=ot)| <ol axisIt SEWFLD, SHO0IX FR axisE& olLIJI machine parameter
MINDEFLE(P66)0Il 2loll ol2E= 2L 2 JI8J12 UEIHCH 0122 probing axesJt machine2l axes)HX
SZ06HH TaotAl 2| W20ICH(??)

ol 2 machine@ A1t probing axesAtOlSl parallelism2 SHIEH =& StCt.
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1096 ‘Point inside the forbidde zone 3.’

2 M Adg= SOt

2 2l “no entey” zoneZE HOIE! work area 3 LHOl AXIEH DK axisE 0ISAIFID| A8 AIEI BHSO ZCH
ol 2 program historyOll A, work zone 3 (G20/G212 &°|=)J} “no entry” zone (G22 K3 S1)22 & X & ULH.
0l work zoneE F Ao AoAE, “G22 K3 80”2 =2 &t}

1097 ‘Point inside the forbidde zone 4.

o daibsE So

(18
-
=

2 2l “no entey” zoneE A= work area 4 LHOI KAXISt ENX axisE 0ISAI2I12] /A8 AIEIF BFS{ B
ol Z program history0llAl, work zone 4 (G20/G212 ASIE)Jl “no entry” zone (G22 K4 S1)22 &XF G QUL
0l work zoneE& F Ao HAlAE, “G22 K4 S0”2 Z2 Q&Y.

1098 ‘Work zone limits dafined wrong’

8@ M A#EE=E SOt

ol Hol=l work zone® upper limit (G21)J1 22 work zone2l lower limit (G20)13F 2t HLE &Y.
ol 2 work zone2 upper limit (G21)2 lower limit (G20)2CH 2 o= T2 ST

o

99 ‘Do not program a salved axis.’

M A= SOt

ol SXITAM HHE M, CHE2A10 OxE axis2 E&ote S&0 T2 I AUCH

2 2HHUAMS S&0| work plane2 main axesOllA UF%M Ct. PlaneE EHOlol= axes= AZ2H0 0l
4= QICH AxesE OI=AIZIX 20| fo “G78"S T2 = EHCY.

=

D 2o g

1100 ‘Travel limits of spindle 1 exceeded’

I:él- /&I;I }éISHEIl_ EOI-

2 9l gpindle physical turning limit€ =1oldi= AMZJF B0 B/CH O Z13H PLC= mark
“LIMIT+S” = “LIMIT-S”E &4 3 AIZ2ICH(second spindleE Y& M= “LIMIT+S” E=
“LIMIT-87)

1101 ‘Spindle 1 locked’

ut

M OAIBHE|= SOt

[0 n

9l CNC= spindle input SERVOSONJt A3 Y= M drivelll 282 &35
MEGIH MelD Xl LUHU spindle parameter DWELL(P17)2 8t0| &20| =X %S
error0fl 28t 210ICH. (?7)

StCH. Errore AlSD}
LC =230 °l&t

W
o I
=
- H

1102 ‘Following error of spindle 1 out of limit’

29 M AEE = SOt

& ol HEIZ (M19)0IA spindledt &S=2 O, 1 CHS errore spindle parameter
MAXFLWE1T(P21)1} MAXFLE2(P22)01l 2loll XIAIE 2t2CH 3L

Ol error0il CHoll Jtsst ez O3d 2L

Servo drive error
Faulty drive.
Enable signals mising.
Power supply missing.
Drive adjusted incorrectly.
The velocity command signal is not received.
Motor error
Faulty motor.
Power cables.
Feedback failure
Defective feedback.
Defective feedback cable.
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Mechanical failure
Mechanical stiffness.
Spindle mechanically locked.
CNC error
Defective CNC.
Parameters adjusted incorrectly.

03 ‘Do not synchronize spindle without homing them first’

g = SOt

K20 222 homing 20l spindle2 SJI&AIDI2l= AT S0 B[
SOlstoldl &0l spindle ¥B25% “M19” JDIs2 AEd A home &0 MOk

0
Y re oz

o
[w)

1104 ‘Do not program G28 or G29 while spindle synchronization is active’

2 M AdEE=E S0t

&l ol spindle0l SI|3tE= SO spindle (G28/G29)E W &6t = AT SHEO AL
ol 2 24, spindle synchronization (G87S)2 F A &tCt.

1106 ‘Travel limits of spindle 2 exceeded’
10001t 22 errorXl B, second spindle2l Z<0|Ch.

1107 ‘Spindle 2 locked’
10012t 22 errorXlBt, second spindlell &<0IC}.

1108 ‘Following error of spindle 2 out of limit’
10022} &2 errorX|2t, second spindlel & <0ILCH.
1109 ‘Axis software limit overrun’

&

2

[

02

21S.(No explantion required)

1110-1118 ‘Range of the * axis exceeded’

2@ M A= SOt

& 0l parameterE Jt&l S&0| 2T YL, parameter g8+0l axis2 maximum travel distance Z2C+ 3Ct.

0l S0 Z2E E=0 SEME M parameterdt 1O 22 JIX1D UK LCh= 2HES &0l H
program historyS &QIstL}.

LT
ny

1119-1127 ‘The * axis cannot be synchronized’

29 M AL E SOt

& o OIS 22 IRl |Ql0] UCH.

PLCZ2E8H 5 M2 axesE SJIStAI2|2d €mLt 8 JHel axisJt 0101 “G77” JIs8 AlEdt= L2 axisdl
Ol =&l ACEH

CtE axisOl Ol5E axisE S2O0/H St ZZ203EMUL AISE O

1128-1136 ‘Maximum feedrate of the * axis exceeded’

9 M AEc= SOt

& 2! individual scaling factor& &&38t OIS stU2l =9 resulting feedrateJt axis machine
parameter MAXFEED(P42)0ll 2o XIAE maximum gtS Z=H8tC

1137-1145 ‘Wrong feedrate parameter of the * axis’
o M A= SO

2l ol “G00”J} parameter GOOFEED(P38)=0 &= axis parameter MAXFEED(P42)=02 JI&l “G1
00"E JIXID Z=2IFCE. (?7)

1146—-1154 ‘* axis locked’
gt

A= SO

2 Ol CNCJ} spindle input SERVO(N)ONO|l (&3l W= M drivetl HHEE ==612{10 AT 8L Errors &S

0=
>
ol
=
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I BEGHH XM= X HAHLE spindle parameter DWELL(P17)2] 3t0l &&06l =X ¥2 PLC =230l 2
8t error0fl 28t 240ICH (?7)

1155-1163 ‘Maximum axis limits of the * axis exceeded’
2 M AEEE S0t

& 9l axis parameter LIMIT+(P5)2 LIMIT-(P6)0Il 2ol Hol= AN As HEIF T2 ZAUCH

1164-1172 ‘Work zone 1 of the * axis exceeded’

g M AdgE= Sot

& 2l “no exit” zone@ & AHO|&E work area 1 0l |AXISHENX =2 0|SAl3IldE= AMEIF SO FLCH

ol Z program historyOllA work zone 1 (G20/G21S JIAIZ2 H2E)0| “no exit” zone (G22 K1 S2)2 &AL
Ct. 0l work zone2 F Aot RAdHA, “G22 K1 S0"S Z2 &Y.

1173-1181 ‘Work zone 2 of the * axis exceeded’
(=13

& 9l “no exit” zoneLE M2l work area 2 S0l AXISHENX F2 0|SA3IH=E AMEZIF SOHRCH
o Z program historyOllA work zone 2 (G20/G21S JIXIZ2 H2 =)0l “no exit” zone (G22 K2 S2)2 & LU
Ct. 0l work zone2 F Ao A, “G22 K2 S0"S Z2 &t}

1182-1190 ‘Following error of * axis out of limit’

g8 M AEc= SOt

2 9ol axis CH20l 2= error= axis parameter MAXFLWE1(P21) = maxflwe2(P22)0ll 2o X&E= 2tECH
ACk. 0l error0f] &8t Jisst |02 OIS 2L,

Servo drive error
Faulty drive.
Enable signals mising.
Power supply missing.
Drive adjusted incorrectly.
The velocity command signal is not received.
Motor error
Faulty motor.
Power cables.
Feedback failure
Defective feedback.
Defective feedback cable.
Mechanical failure
Mechanical stiffness.
Spindle mechanically locked.
CNC error
Defective CNC.
Parameters adjusted incorrectly.

1191-1199 ‘Difference of following errors of the slaved axis * tool large’

& 2 “n” axisO| T2 axis@ &HIIEZ HALN JAHU M=E Gantry axisOICH d2l2 “n” axisCS0l @&
error?t A2 AHZE 21 A0S XIOIJF “n” axis MAXCOUPE(P45)0l 28t machine parameterOfl 2ol &&= 3t
20 Ak

1200-1208 ‘Travel limits of the * axis exceeded’

2 M ASGE SOt

& 2l physical travel limitE Z=6teie A= SEUFCH O Z1, PLCE axis mark “LIMIT+1” &= “LIMIT-
"2 #4d3IAI2IC

1209-1217 ‘* axis servo error’
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2l 9l axis parameter FBALTIME(P12)0ll 2o XIEE time OI= 2| real feedrate= EZ2 & E Al2t2] 50%0156}
MU 200% Ol 4t0ICt.

1218-1226 ‘Work zone 3 of the * axis exceeded’

2 M AGE=E SOt

& 2l “no exit” zone@ 2 HO|= work area 3 0l AN AXSENK FE 0ISAIH=E NI HENHFLCH
ol Z program history0llAd work zone 3 (G20/G212 JIXI2 H2IE)0|l “no exit” zone (G22 K3 S2)2 &A LA
Ch. Ol work zone2 HAGH| AGHA, “G22 K3 S0"S ==z 245t}

1227 ‘Wrong profile intersection in pocket with islands.’

2 M AEE = S0t

2 9l “Irregular pocket canned cycle with islands (G66)"0ld, SCt 2SS9 2 section = starting pointS Jt
A Y=s S W plane profiledt UL

ol Z CtAl profile2 &QI&tCE. & JH2l planee 22 pointlAd AI&E s 811 BE2=Z section2 JIE == &
Ct.

1228-1236 ‘Work zone 4 of the * axis exceeded’

gt M AYCE SOt

& 2 “no exit” zone@ =2 A= work area 4 B0l XIS DX =2 0ISA2d= AMEI}F SHEHRCH

ol 2 program historyOlAl work zone 4 (G20/G212 JIXI HOI=)0| “no exit” zone (G22 K4 S2)2 EF LAY
Ct. Ol work zone2 HAdIJ| A, “G22 K4 S0 EZZ 2B},

1237 ‘Do not change the entry angle inside a thread’

2 A AlGE=E SOt

& 9l thread jointot B2LIAU D entry angle “Q"IF & M theradAOIOIA =208 UL
ol 2 threadS2 HZE M, ISACF entry angle “Q"E JtXI1D ULH.

1238 ‘Range of write—protected parameter. P297, P298’

2 A AlGE=E SOt

& ol “Definition of incline plane (G49)” Jlsg &l&idiei) & M, parameter P2971 P2980| machine
parameter ROPARMIN(P51)1} ROPARMAX(P52)Z JIXID MI|2X = UL

o Z incline planeE A2lol==9, CNC= parameter P2971t P298= LHI0IESICH. 222, 0l & JHe
parameter MJ|2XI& 4= QICH (?7?)

1239 ‘Point inside the forbidden zone 5.’

2@ M MG = SOt

2 9l “no exit” zoneR = HO2IE work area 5 U2 |XIE ENX =2 0ISAIHE=E AMEIF ST

ol 2 program historyOlAl work zone 5 (G20/G212 JIXID EO|=)JF “no exit” zone (G22 K5 S2)2 AHEY
Ct. Ol work zone2 F Aot A, “G22 K5 S0"S Z2 &t}

1240 —1248 ‘Work zone 5 of the * axis exceeded’

g M Aag= S0t

& 2l “no exit” zone2Z AO|E work area 5 S0l XISt MK FE2 0ISA2Id= MO S FLH

ol Z program historyOilAl work zone 5 (G20/G21S JIAIZ2 H2=)Jt “no exit” zone (G22 K5 S2)28 EF LU

Ct. Ol work zoneg HAGH| fIHAM, “G22 K5 S0"8 Z2 & SHCE.

1249 ‘Variable pitch thread programmed wrong’

2 M AMEE = S0

& o O399 TAHZ JtA variable—pitch threadE StS2 11
“K’SI10F (+)0l2 2LECH 3 AHLE &0

“K*SIIF Z(+)0l2 HAtE pitchs oHLHE JFXI 1D threading axis@l &HLEQl maximum feedrate (parameter
MAXFEED)E =1t8tCt.

“K”SI1IF S(-)ol2 HatE pitchel atLIDEF F(0) E= S(-)oICH.

[0

Ct.

48



1250 ‘The K value is too large in G34’
2 M AYEE SOt

& ol A= variable—pitch thread (G34)2l XSt OFXIZ pitchAOlI2] HIE0| 32767=2CH ALCH

1251 ‘Two variable—pitch threads cannot be joined in round corner’

2 M efE0l 243 0HESME MeS s&8i= simulation S0t

& 92l To variable—pitch threads cannot be joined in round corner unless the second one is of the type : G34
.-« LO KO

1252 ‘G34 without a pitch is only allowed after a variable—pitch thread.’

2 M fZol 43S 0HEME NMAS S&Hl= simulation S0t

& o SEOIZF0|HU G34JF S HU square cornerBlAl G34 L0= T2 )& £QICH
1253 ‘Retrace function unavailable’

2

2

&

02

2 S.(No explantion required)

HARDWARE ERRORS

2000 ‘External emergency acticated.’
2@ M AdL= SOt

49



2 9l PLC inut 1 (E—stop button)0l S(0)22 HAAFEAHL PLC mark M50000(/EMERGENCY)Jt
d0)ez 4L
ol Z PLCOIA =0l E(0)2 0IRE &QISC (powersl & QUCH

2001-2009 ‘* axis feedback error’

l:”- g AléHEI'— EOI-

& 2l CNCJII axexZ22E feedback signal2 2+2 %= QiCh

ol 2 connectordt & BIEH R/ =AI &Q2ISHT,

NOTE : Ol error= Z(0)0l2/2 differential axes DIFFBACK(P9)=YES%} sinusoidal axes S INMAGNI(P10)0il A
parameter FBACKAL(P11)=ON @ ZMStC}, Setting parameter FBACKAL(P11)=0OFFO0I™ 0l error2 ZM3}HX
=0 ofXI2E O|HS SX| LAIEQ! oHZEE0ICH

2010 ‘Spindle feedback error’

Ul- AH AloHEI'— EOI-

& CNCJ} spindle2 £ H feedback signal2 &2 % 8iCh

o Z connectordt & DISHB/ =X EQISHT

NOTE : 0| error= &(0)012/ < different|al axes DIFFBACK(P14)=YES%2} sinusoidal axes S INMAGNI(P15)0I Al
parameter FBACKAL(P15)=ON2 @M} ZAM&tCH. Setting parameter FBACKAL(P15)=0OFFO|® 0| error ZA4otHAl
=0 SHXIBH 012 SHX| LAIEQ! oHZEH0ICH

}HFQO

2011 ‘Maximum temperature exceeded’

2 M Any time

& 2 CNCOl We2cIt =L |2 sy 224 UCH

& I| cabinety %%OI oF EC}.

ot E28st QAE JIEl Axis board

of Z CNCE HHIJHJ EOol ASMNX JICHICE Error0l XISE ™, boarde 2201 &A= 4 QUL Ol2st &
2, boardE 11 & StCH Service £ M0 =5

2012 ‘There is no voltage at the axis board’

(=1 ABIC|= =S Of

axis boardel &M 0| 24VIl OFLICH Fusedl BOHITESL U
axis board@l output(24v)E 23 8tC} Fusell BHJTSH, WH

A

L0 N
Y e 0:’:

o

Ct.

2013 ‘There is no voltage at the 1/0 1 board.’
2014 ‘There is no voltage at the 1/0O 2 board.’
2015 ‘There is no voltage at the 1/0 2 board.’
29 M Mg = Sot
&l 2l 1/0 board0il =

H Z 1/0 board0il =

bt 24VDI S8 X L= Fusedl BT S4 UL

I — = 9.&
Z£8(24v)2 22 &HC}. Fuselt BO R Y, wHIE

A

ﬁ
o [
rOII rOII
roll

Ct.

‘The PLC is not ready’

= a3s = S0t

2 0l PLC B2 0| SZ6HX Le=Ch CHSD 22 |00l US4 UL
LC Z22380| gL

WATCHDOG error

MonitoringCELH T2 10| S AL

ol & PLC ZZ2E AIZEIHLE (PLC CHAIAIZL)

2017 ‘CNC RAM memory error’
2 M CNCE Al&dIAHU JS6lE %PJ

& 21 CNC2 RAM memoryOllA Z &0l AL AL
ol 2 CPU boardE& 1 HIBICH Service A0 HA=SHCE

2018 ‘CNC’s EPROM memory error.’
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CNCE AIZ3I L &lEtss Sot
CNC2 EPROM memoryQlAl 2801 2ALZULE.
CPU EPROM2 uHiot1l, Service 2A0 HEHsSHCE

‘PLC’s RAM memory error.’

CNCE Al&olHU &Hol= Sot

CNC2 RAM memoryOilM Z&0] ZAZ AL
PLC boardE wilotyd, Service 2A 0 H=t5tC},

‘PLC’s EPROM memory error.’

CNCE AI&EBIALE &IHdl= Sot

CNC2| EPROM memoryOilA Z&0| LALIUCEH
EPROME 1 HIGtL, Service A0l HEEHCEH

‘CNC’s user RAM memory error.” Pres any key.’
CNCE AlI&EBIAL &IHdl= St

CNC2l ArE2X RAM memoryUiA Z2&0| LAHAL AL
Service A0 HEHSHC.

‘CNC’s system RAM memory error.” Press any key.’
CNCE AIZSIAHLE &lEsle st

CNC<2l system RAM memoryOllA Z2 80| ZAZ/JULCEH
Service A0 HEHSHC,

‘PLC’s RAM memory error.” Press any key.’
CNCE Al&EstHU &lSol= S0t

CNC2 RAM memoryOllA Z2&0l LAZQULE
Service £AM0l HAESSHTY,

‘There is no voltage at the tracing board’

A= SOt

tracing board2l &3 X 0| 24VIF OILICEH Fusedt Z20{&
tracing board® output(24v)S Z228tC. Fusell BOHEF S

‘Probe feedback error’
Mg = S0t

tracing probedt HZ & X LAHL cablelf] 2R HEEH E2

probedt & HZEHAHJU=X EOISHCE.

‘Probe’s maximum travel limit overrun.’

Mg = Sot

probeJt machine parametertil 2ol 31&& =04 JI2D
feedrateE =011 probedt =&E X RAU=KX EOISHLE

‘SERCOS chip RAM memory error.” Press any key.’
CNCE Al&EolHUL &Sol= sot

SERCOS chip RAM memoryQlA Z&0| 2HAEZRUCE.
SERCOS boardE 1 AIct1d, Service A0 He8tCE

‘SERCOS chip version error.” Press any key.’

& CNCE Al&Eots st

SERCOS chip version0| 2} =1210|Ch.
SERCOS chipE nHMotL, Service A0 HeHEHCH
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PLC ERRORS

3001 ‘(PLC_ERR without description)’

o 4 AHCs SO

& ¢ Mark ERR10IA ERRG64AMAI “1"= HFE UL
ol 2 PLCOIA & markdt “1"2 HFCUA=X &QI6t0, HEF| HIEHCH

3002 ‘WATCHDOG in the main module (PRG).’

2 M Any time

& o OIS 22 JHX &2l0] UL

PLCSl main T2 20| PLC parameter WATCHDOG(PO)2Joll & FSE Al2+
SERI Z2I20| UL

ol Z PLC parameter WAGPRG(P0)2l AlZ2H0IL} PLC speedZE ZIHAIZICH.
CPU TURBOE &l StLt.

PLC parameter CPUTIME(P26) E= general parameter LOOPTIME(P72)& HIZLCH.

10
I
B
%
x
>
02
i
30
[w]

3003 ‘WATCHDOG in the preiodic module (PE).’

2 M Any time

& ol S 22 G2JFXl olol UL

PLCS2l periodic programO| PLC parameter WATCHDOG(P1)2lol & & Al2tE ZWollA &
SPEIR2TI T2 0| UCH

ol Z PLC parameter WAGPRG(P1)2l AlIZt0IL} PLC speedE ZIHAIZICH

CPU TURBOE &&lstLt.

PLC parameter CPUTIME(P26) &= general parameter LOOPTIME(P72)2 HIZLCH

02

S ACH

3004 ‘Division bt zero at the PLC’

2 M Any time

2 2l PLC programOilA, H(0)2 2 L= Hits Aldists line0l ULH

ol 2 register8 WM S&E M, 1 register= 0/0] H(0) 2t JtX1D UYUSK ZECE Registerdt 1 2 It
& FHO0| ZBLIK L QA=K EOISHTE,

3005 ‘PLC error—>’

2 A Any time

& Q! PLC boardOll A error0l AL

ol 2 PLC board& 1 Alot1], Service £M 0 HetstC}.
SERVO ERRORS

4000 ‘Sercos ring error’

2@ M AYMOE Sot

& 2l Sercos commication0l S E ACt.connection ring (FSADF HZE X LUILE LIIRS)NA ES0IH
L Z2E 0l |oidac QUCH..

wheel2 #0I5=211 sercosid?t LXIGHK L=CH(??)

parametr P120 (SERSPD)2} transmission speed2 L XI6HAl =0,

drive version0| CNC2} SRl =Ch.

SERCOS board0ll A error0l RULCH

drive2t CNCOlA transmission speed (baudrate)Jt £2ICH

DriveJt X2 back on due to a power supply failure. HAIZSH S, 4027 ‘The drive has started up again’
errordl EAIECH

Fast channelESoll drive0lA ESMoIA 2= He £= HP B2 BE AHL MAge AZIF SEESHRJCH

ol Z connection ringdt SSE X LUA=X BHSCH 2HIE Sl lightdt ML =X HHSHCH Z22E i
ol 2ol Al2tH, Service A0l HEHSECEH

ErrorJt Fast channel®ll 28t A4 0l2tH

MM Z =TH3t= fast channel@ Soll AHXIHL S8 Xle RE HE QOIS
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Filedl SERCOS LOGE MNZ&GI1 errorE ZLAMdl= axisE &OQISHCH.

2 drive 8 PLC machine parameter “SRD700 and SWR800"& “0"ez &3
CNCE M&H3BIL] errordl ZMBHA 2=X &QOISHCEH

L&l LMETNIK |dt= 2t2 StUA parameterdil & A SHCE.
ParameterE A& [, look that variable up in the drive manual to verify that it exists | that version and it may
br accessed. If so, the error may come up because it tries read or write too many variable in that drive. (??)

o

Ct.

‘

01 ‘Undefined class 1 error’
M A= Sot
Ol drivedl errorg &AM

Z Service A0 H&tst

riong 5

4002 ‘Overload (201--:203)’

4003 ‘Overtemperature at the drive (107)’

4004 ‘Overtemperature at the motor (108)’

4005 ‘Overtemperature at the heatsink (106)’

4006 ‘Voltage control error (100-+-105)

4007 ‘Feedback error (600---606)’

4008 ‘Error at the power bus (213:::215)’

4009 ‘Overcurrent (212)’

4010 ‘Overvoltage at the power bus (304/306)’

4011 ‘Undervoltage at the power bus (307)’

2@ M A E S0t

& Ol drivelllA errordt LMLt BracketllAl HS &= drive?l standard error IS E Jtel2ICH XM LHE=2
drive manual2 & 18tCt.

ol 2 01248t BSBFY error2 error0l MO axis E£= spindle driveE Jt2l31= message 4019, 4021, 4022 &
= 40232 #=YI&HCE Errorg &0lol)| M= drive manual2 2 16t10 HE06HH A3 AI2ICH

4012 ‘Drive error’

4013 ‘Position deviation too high’
4014 ‘Communication error’
4015 ‘travel limit overrun’

2@ M MY = S0t

& QI driveCl A errordb ALY,
off 2 drive manual@ &#18tC.

4016 ‘Undefined class 1 error’

2 M AEG = S0t

& QI drivedt error2 AKX
Cl

=, o 1=
ol 2 Service A0 A&t

I
h

o
0
g
1>
£Q
jm|

A
i

4017 ‘Drive error’
g M AlBiC= SOt
& QI driveClA error0| ZHA43HCH

= .
ol Z drive manual2 & 118tC}.

8 ‘Error accessing a SERCOS variable’

M AElic= SO

2 ol CNC2EE SERCOS Bi4E AI|RASHMIIRIS) AMZEIF BFEFCH D2l
HEDF EMotXl 2=C0).

X 0/xA g2 €=C0h

SERCOS H=J1 JiH 208 JHAl2 UCH

IINE HaeE FHAMblel= AlEJ SB[

ol 2 H&st S& 20| Y= BAQIX| E0ISHLE, (?77)

0ﬂlE§
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19 ‘Drive error : Axis’
o Aeig= SOt

(¢}

o e 5

4020 ‘SERCOSID parameter value error’
2 A AlEG = S0t

& Ol driveOll A errordt 2FARMCE,

ol Z drive manualg &118tC}.

4021 ‘Spindle drive error :

4022 ‘Spindle—-2 drive error :

4023 ‘Aucxiliary spindle drive error’

2 M A= S0t

& Q! 0le48t message= error 4002-40112 #UBI&tCH HAZE errord LD LM S O,
message= errorJt ZMSt spindleE Jtel2!IC.

4024 ‘SERCOS error when searching home’

oM Acs Sot

Ol SERCOS2l home search H&E0| Ec|H A& RULCH.

o n

4025 ‘SERCOS loop time exceeded: Increase P72 (looptime)’

2 M ASGE SOt

& 2l axisll feedrateE HAIGIES FUHE AlZ2H0] drive2 8EZIJ| ol A& cycle time2CH ALk

ol 2 general machin parameter LOOPTIME (P72)2| 2t ZJAI2ICE. Error0l HLE ™, Service £A0 Hetst

4026 ‘Error in SERCOS chip RAM memory’

oM AHEs SO

—_ O

& @l SERCOS boardE€ uwHISH)| fAHA Service A0 HESHCEH

4027 ‘The drive has started up again’
2@ M AL = S0t

& 2l drivedl JHXI1, back on due to a power supply failiure.

4028 ‘The light does not reach the CNC through the optic fiber’

2 M AERAE Z

& o ZUXE S8t CNCOl 28t AlSJF CNCE2 sS0tXAl Z=0.

A ZCHX cablell AMEHQF HEHIE &QlstC). Lightdt driveE Sall SZtol= CNCQ “OUT”It LIJte=Xl CNC
“IN’0l E0=Xl &SI,

4029 ‘Communication with the drive cannot be estiblished. No response’
2@ M NS 2 W

2 ol S 22 |ololl 2dll drivedt CNCIF BEUlle &S0 SY06lAl &
DriveJ} sercos board& QI&I6HAl 2&HC}.

DriveJdt lock &l O{ ULk

Switch numberJt 8&3| 23 XIX 2=C

SERCOS transmission speedJt drive?t CNCOIA =2IH &3 /ACH CNCOIA General parameter SERSPD 0l
1) driveOlM QP11

ol Z fileOl SERCOS LOGE X &St

Errordt 24 Gt= axisQ axis machine parameter SERCOSIDS| gt= & OIStC}.

1 XA ringdt switch& Jt& driveE E&6=AR &018HH
Hag2 A2 M drivedt switch2t AAI| 20 reset StCE.
CNCZ driverrJt &2 transmission speedE JtXI1] J=X &0l

rr

Ct.

ol

FCt. CNCOIA General parameter SERSPD 0|

[
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1l driveGlM QP11
DrlveDF sercos board€ QIA&GHAl LU= &OISHLEH Drivell displayE THet. Hardware errordt 201 ™, drive2]
sercos boardE W AIStCE
1 driveOll errordt 19H, drive® switchOll “1”2 & &35l reset 5l single SERCOS axisE JI&l CNCE =
Ct. 02l CNCOl HZ 8t i ™Bl errorE LIEFLIS, driveE W AISECH

4030 ‘SERCOS register writing error’

2 A Adg= SOt
2l 9l Service 2 A0 HAESHC.

4050 ‘ERROR 1: Internal (Fatal error): Internal RAM test failed’

4051 ‘ERROR 2: Internal (Fatal error): Internal program malfunction’

4052 ‘ERROR 3: Power bus drop: No torque.’

4053 ‘ERROR 4: The emergency stop cannot stop the motor in the setablished time frame’
4054 ‘ERROR 5: Program code checksum error’

4055 ‘ERROR 6: Sercos board error’

2 M AL = SOt

& 2l drivelll errorDt A4
ol 2 drive manual€ #.1&t

ro|| ;on

Ct
Ch.

4056 ‘ERROR 100: Internal +5V out of range’
4057 ‘ERROR 101: Internal =5V out of range’
4058 ‘ERROR 102: Internal +8V out of range’
4059 ‘ERROR 103: Internal =8V out of range’
4060 ‘ERROR 104: Internal +18V out of range’
4061 ‘ERROR 105: Internal —18V out of range’
4062 ‘ERROR 106: Heat—sink overheating’
4063 ‘ERROR 107: VeCon card overheating’
4064 ‘ERROR 108: Motor overheating’

oM AHEE SO

& Q1 drive0ll errorJt ZrAHMLCE
61 Z drive manual2 & 118t

4065 ‘ERROR 200: Overspeed’
4066 ‘ERROR 201: Motor overload’
4067 ‘ERROR 202: Driver overload’
4068 ‘ERROR 211: Internal (Fatal error): DSP program execution error’
4069 ‘ERROR 212: Oversurrent’
4070 ‘ERROR 213: Undervoltage at the IGBT power driver’
4071 ‘ERROR 214: Shortcircuit’
4072 ‘ERROR 215: Overvoltage at the power bus(Hard)’
29 M AEE= Sot
Ol driveOll errorot &
ol Z drive manual2 #

o n

£ 0
o 32

Ct
Ct.

4073 ‘ERROR 300: Power supply module overheating’

4074 ‘ERROR 301: Power supply module ballast circuit overheating’

4075 ‘ERROR 302: Shortcircuit in the power supply module ballast’

4076 ‘ERROR 303: Ballast circuit supply voltage out of range’

4077 ‘ERROR 304: Overvoltage at the power bus detected by the power supply module’

4078 ‘ERROR 305: Protocol error | the interface between the power supply module and the driver’
4079 ‘ERROR 306: Overvoltage at the power bus (Soft, trigger prior to hardware)’

4080 ‘ERROR 307: Undervoltage of the powr bus’

o M A5 S0

55



4100
4101
4102
4103
4104
4105
4106
4107
4108
4109

=13
=

driveOil errorJ}
drive manual2

‘ERROR 400:
‘ERROR 401:
‘ERROR 403:
‘ERROR 404:
‘ERROR 405:
‘ERROR 406:
‘ERROR 407:
‘ERROR 408:
‘ERROR 409:
‘ERROR 410:

No SERCOS board is detected’

Internal SERCOS error’

MST failure’

MDT failure’

Wrong phase (>4)’

Wrong phase incresae’

Worng phase decrease’

Phase change without «ready» aknowledgement’
Change to an unitialized phase’

Two drivers have the same ring address’

Ao S0

driveOll errorJt
drive manual2

‘ERROR 500:
‘ERROR 501:
‘ERROR 502:
‘ERROR 503:
‘ERROR 504:
‘ERROR 505:
‘ERROR 600:
‘ERROR 601:
‘ERROR 602:

gt Al

=2
)

=

o 32

Ct
Ct.

-

=
(e
Inconsistent parameters’
Parameter checksum error’
Wrong parameter value’

The table for default parameter values for each motor is wrong.’

Wrong parameter in SERCOS phase 2’

Different RAM and FLASH parameter’
Communication error with the second feedback’
Communication error with the rotor encoder’
motor feedback B signal saturation’

g = SOt
driveOll errorJ}
drive manual2

‘ERROR 603:
‘ERROR 604:
‘ERROR 605:
‘ERROR 606:
‘ERROR 700:
‘ERROR 701:
‘ERROR 702:
‘ERROR 703:
‘ERROR 704:
‘ERROR 705:

motor feedback A signal saturation’

Saturation of A and/or B signal values’

Week A and/or B signal values’

Too much dispersion of the rotor sensor signals’
RS232 board error’

Internal : Wrong VeCon board indentification’
Expansion board indentfication error’

I/O board identification error’

Analog board identification error’

Power board identification error’

Mgl S0

S,i_]

olt

4110 ‘ERROR 706:
4111 ‘ERROR 707:
4112 ‘ERROR 801:
4113 ‘ERROR 802:
4114 "ERROR 803:
4115 ‘ERROR 804:
4116 ‘ERROR 805:

driveOll errorJt
drive manual2

=

9 32

2y

=gl

Ct
Ct.

X3 encoder simulation board identification error’
X4 motor feedback board identification error’
Encoder not detected’

Communication error with the encoder’
Unitialized encoder’

Defective encoder’

No encoder has been detected on the motor’

4117 ‘ERROR 7: SERCON clock error’
4118 ‘ERROR 8: SERCON data error’
4119 ‘ERROR 203: Torque overload error’
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4120 ‘ERROR 411: telegram reception error’
2 M AYEE SOt

& Q! drivelll errordt &
ol Z drive manual2 #

-

Kl 02
o 32
fu

CAN ERRORS

5003 Application error
& ¢ W& CANopen error
ol 2 Service A0 HESICE

5004 CAN bus error

& 9! error /= 3 codeZ EAIEIC.

2 Transmission queue full, HIAIXIE &&=+ 8l

128 Bus Off, I H2 error 20 bus)t HIEA 3 E AL

129 CAN warning, bus0l 960 Ol&2| errorJt QULH. Step prior to the buss off error.

130418 HIAIRIS &4 = 48 HAIXDIF U 28, A2 cable 2010 HIoH =& HS=O{&0|CH
131 bus(LHS)0IA

0l0

CNCIt &EZ06tXl %= MHZ BIGHRILCH

ol Z 2 |00l st CHS 22 allZ0l UL

2 CNC2t HL-EALQ|Q HZS EOISHCEH
128 cabledt HZAMENE SIS

129 cabledt HZAEHE =QISHCEH

130 machine parameter IOCANSPE(P88)S & QI&HC}
131 cabledt HZAEHE &QISHCEH
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5005 Presence control error detected by the CNC
& Ol CNCIt LEJ} AAZR reset AHUL HZEO| EREUC=E IS LAGIC.
ol 2 cablelt HZAEE &OISHL.

5006 Error because the node has been reset
& 2l power supply 2222 Q216 ==} reset T ULCH.
of 2 XN L&, FXHZ, ES2010lA power supply &

e
o
0
ro
[w)

5007 Error message corrected
& Ol error AENDF AF2ZEXIZD any more leftdl =X A=XIE &
2 LEHZZ reset St}

2
A
8
Illl?ﬂ
0x
o
uil
3Q
[wl

5022 Internal software error
& ol 8 & software error
ol Z Status screen \ Can \ Version 0l YAHIASID softwareE CiAl E2{2CH.

5027 Communication error
& ol ESA error
ol 2 Service A0 HSICE

5028 Lost message
& 2 LEJF HAIXKIE LHHRLH
ol 2 cablelt HZAMEHE &H0I6HCH

5029 Presence control error detected by the node
& 21 CNC =E0l 2dll s=3& precence controlOl & IHLCE.
ol 2 cablelt HZAMNENE &OISHC.

5030 Protocol error
& o Lo aiAEs S
6l Z Service A0 HSHCE

5031 PDO not processed due ti its length.

& ol 20[7F €XIGHAl &= process HIAINIE =E01 =AML
of 2 Service M0 HSISHCH

5032 PDO tool long

& o T2 NHEHNECH O 2! process HIAIXIE = =01 AR
ol 2 Service 2AM0| HEISHLY,

5036 Output over—current

# o WYt AHIE(UENHT)0 XNFE 50 SHUA LAZUCH GILIHANA AABE OVE &

U= 2E modulel &2 HIZAHSAIZICH
of 2 AHIZ &0l5lD JIsol® modulel SE0|M SHEAIZICE (79)

5037 Power supply voltage error

2 o MEAISEX 0| NEE LE0A 2AZAJCH 20l SSEHAX &FHU +24V0I6H0ICH
of 2 == 82 modulel MEE=2 AHIES QIS
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TABLE DATA ERRORS

‘CHECKSUM ERROR: GENERAL PARAMETER Load CARD A? (ENTER/ESC)’
‘CHECKSUM ERROR: SPINDLE PARAMETER Load CARD A? (ENTER/ESC)’
‘CHECKSUM ERROR: 2nd SINDLE PARAMETER Load CARD A? (ENTER/ESC)’
‘CHECKSUM ERROR: AUX. SPINDLE PARAMETER Load CARD A? (ENTER/ESC)’
‘CHECKSUM ERROR: SERIAL LINE 1 PARAMETER Load CARD A? (ENTER/ESC)’
‘CHECKSUM ERROR: SERIAL LINE 2 PARAMETER Load CARD A? (ENTER/ESC)’
‘CHECKSUM ERROR: HD/ETHERNET PARAMETER Load CARD A? (ENTER/ESC)’
‘CHECKSUM ERROR: USER PARAMETER Load CARD A? (ENTER/ESC)’
‘CHECKSUM ERROR: OEM PARAMETER Load CARD A? (ENTER/ESC)’
‘CHECKSUM ERROR: PLC PARAMETER Load CARD A? (ENTER/ESC)’

‘CHECKSUM ERROR: ZERO OFFSET TABLE Load CARD A? (ENTER/ESC)’
‘CHECKSUM ERROR: PASSWORD TABLE Load CARD A? (ENTER/ESC)’

‘CHECKSUM ERROR: AXIS * PARAMETER Load CARD A? (ENTER/ESC)’

‘CHECKSUM ERROR: TOOL TABLE Load CARD A? (ENTER/ESC)’

‘CHECKSUM ERROR: TOOL OFFSET TABLE Load CARD A? (ENTER/ESC)’

‘CHECKSUM ERROR: MAGAZINE TABLE Load CARD A? (ENTER/ESC)’

‘CHECKSUM ERROR: M FUNCTION TABLE Load CARD A? (ENTER/ESC)’

‘CHECKSUM ERROR: LEADSCREW * TABLE Load CARD A? (ENTER/ESC)’

‘CHECKSUM ERROR: CROSS COMP. TABLE * Load CARD A? (ENTER/ESC)’

gt M CNC AlZtol= s¢0t

2 0l H&5 table datalt 2D (RAM error L4 S) CARD ANl HEE tableOl UCH.

o Z [ENTER]IE =dlA CARD A0l XZE tableE RAM memoryOll SAISHCH Error0] XIS &l™,
Service M0 HtEHCH,

‘ERROR: GENERAL PARAMETER CHECKSUM Reset? (ENTER/ESC)’
‘ERROR: SPINDLE PARAMETER CHECKSUM Reset? (ENTER/ESC)’

‘ERROR: SPINDLE-2 PARAMETER CHECKSUM Reset? (ENTER/ESC)’
‘ERROR: AUX. SPINDLE PARAMETER CHECKSUM Reset? (ENTER/ESC)’
‘ERROR: SERIAL-LINE-1 PARAMETER CHECKSUM Reset? (ENTER/ESC)’
‘ERROR: SERIAL-LINE—2 PARAMETER CHECKSUM Reset? (ENTER/ESC)’
‘CHECKSUM ERROR: HD/ETHERNET PARAMETERS Initialize? (ENTER/ESC)’
‘CHECKSUM ERROR: OEM PARAMETERS Initialize? (ENTER/ESC)’

‘ERROR: PLC PARAMETER CHECKSUM Reset? (ENTER/ESC)’

‘ERROR: ZERO OFFSET TABLE CHECKSUM Reset? (ENTER/ESC)’
‘ERROR: CODE TABLE CHEKSUM Reset? (ENTER/ESC)’

‘ERROR: AXIS PARAMETER CHECKSUM Reset? (ENTER/ESC)’

‘ERROR: TOOL TABLE CHECKSUM Reset? (ENTER/ESC)’

‘ERROR: TOOL OFFSET TABLE CHECKSUM Reset? (ENTER/ESC)’

‘ERROR: TOOL MANAZINE TABLE CHECKSUM Reset? (ENTER/ESC)’

‘ERROR: M FUNCTION TABL CHECKSUM Reset? (ENTER/ESC)’

‘ERROR: AXIS LEADSCREW TABLE CHECKSUM Reset? (ENTER/ESC)’

‘ERROR: CROSS COMP. TABLE CHECKSUM Reset? (ENTER/ESC)’

g2 M CNC Al&ol= Sot

2 0l &5 table datadl 2110 (RAM error L€4US) CARD A0l MZEE tableOl QLCH

ol 2 [ENTER]IE =21M CNC =JIgt2 JtX tableE 2220 Error0l XI&E ™, Service £ A0 HEHSHCE
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‘Wrong * leadscrew table. Press key’

gt M CNC Al&ol= S0t

& 9l leadscrew compensation table® parameter®ll 2f2t Z2& datall UCH

ol Z tablel EH(point)=2 &Hol= Ot THS S=0|0FSICE

Table2l &(point)S2 axis2 &(point), BEAL X E JIE 2 8(-)2 3 &= JIE &H2 2(-)9 dEez2H
O AIEN 2JohM HEE &L

Machine reference pointe= errordt 810 0F8H StCH.

HA=Xol H(point) AFOIQl error XH0l= EE A0 JH2lECH A &= QUCH(?7)

‘Wrong * cross compensation table. Press key’

g M CNC AlZsle sot

& @l cross compensation table2l parameter0il &2t &2 & datallt UL

ol Z tablel H(point)=2 Hol= Ol ZHS &=l 0FStCH

Table2l H(point)S& axis® H(point), EAZNXE JI&E 2 S(-)2 3 = IIE &2 2(-)9 Hoz22H
O AIEO 2N SEE &I

Machine reference point= errorJt 10{0F2F SHCH.(?7)

ol

ool

‘Incorrect cross compensation table parameters’

gt M CNC AlZtol= S0t

Ol cross compensation0l 2&= axesS LIEIHH= parameterdt 22 H O & QULCH

Z OO0t EMGHA Re axisIt HOEUHL HEE2 axis(E24E)2 20 ges F= A

2 o
o
h
n
m
[w]

‘Wrong axis or spindle parameter sercodid’

gt M CNC AlZ6l= sot

2 9Ol sercosid parameterdt E6HH S & X HUCH.
& sercosid parameter g =2 31 2L

EAl 12 AIZSIC}.

= 0[0{0F StCF.
=

g2+ 8lth

o

Qe o

60



ERRORS OF THE MC WORK MODE

9001 ‘CENTER PUNCHING: F=0’

2 M ABE = SOt

& Q! feedrate “F"II Z2RE U222 FLJALCH

ol 2 Z(0)0l Ot &o| 2Z feedrate “F'S ZZ I

9002 ‘CENTER PUNCHING: S=0’

2@ M AL = SOt

2 0l spindle speed “S”Jt &R E gtO2 HO & ALY,

ol Z H(0)0] Ote! ol 2= spindle speed “S"E T Z B,
9003 ‘CENTER PUNCHING: T=0’

8@ M MG = SOt

& 2! tool number “T"JF QLI X LUCH.

ol Z tool number “T"& H(0) 01212 gt2 JIXID St

04 ‘CENTER PUNCHING: P=0
o dlE=E S

2l 9l center punching depth “P”JF HQ|Z Xl UL
8l Z center punching “P’= &(0) 0129 2t JIXID

]
[w]

9005 ‘CENTER PUNCHING: @=0’

g M Ag= SOt

& 9! point XI& «@»Jt H2lZ Xl 2LQUCH

ol 2 point XIS «g»= H(0) 022 2tS JIXD

]
Qo

9006 ‘CENTER PUNCHING: a=0’

2 M Aldlig= SOt

& 2l drill bite tip2l angledt « a »Jt OFLILCH.

ol Z drill bit « a »2] tip2 angle= 2H(+)0IHA (0)0I Ot 2t JtXID  8tCH.

9007 ‘DRILLING 1: F=0’

B M A E SOt

& 9l feedrate “F"II 2R& gISZ MO L ULH

ol 2 H(0)0l OtY 2(+)2l &2 Z feedrate “F’E T2 &

o

Ct.

9008 ‘DRILLING 1: S=0’

g M A= SOt

& 9l spindle speed “S"JI ZX2E o=z HOL UL

ol Z Z(0)0] Otxl 2(+)2 22 spindle speed “S"E ZZ & SHCH.

9009 ‘DRILLING 1: T=0’

g M AWM= SOt

2 2l tool number “T"JF HO|L Xl YULCH.

ol Z tool number “T"= E(0) 0122 gtS JIXID  SHL

9010 ‘DRILLING 1: P=0’



gt M AMYCE SOt
2 2l center drilling depth “P”JF HO|&X| LUCH.
ol Z drilling depth “P”’= &(0) 0122l gtS JIXlD  SHCH

9011 ‘DRILLING 2: P=0’

2 M ARG E SO

& 9l feedrate “F"It 2RE &#2=2 FLUL

of 2 2(0)0l Ot 2(+)Q U2Z feedrate “F"E ZZ I &BICY,

9012 ‘DRILLING 2: S=0’

2 M AMG = SOt

& ¢l spindle speed “S"J} BERE o2 FOLULCH

ol 2 2(0)0l Ot 2(+)2 2t2Z spindle speed “S"& T2 &St

9013 ‘DRILLING 2: T=0’

2@ M AME= Sot

& Q! tool number “T"JF QLI X LUCH.

ol Z tool number “T"= €€(0) 01219 gt= JIXID A0{OF BtCH

14 ‘DRILLING 2: P=0’
M ASig = SOt

2l 9Ol center drilling depth “P” &2Z X ULt

ol Z drilling depth “P”’& &(0) 01212 2tS JXID A0I0F SHCH.

9015 ‘DRILLING 2: B=0'
o4 ABEE SO

& QI 2k2k9o| penetration CHS2l withdrawal distance «B»JF Ao &/ Xl ¥ QULCH.
ol & 229 penetration CHS2 22iLt= distance «B»= F(0) 01212 S JIXILD YO OF

6 ‘TAPPING: F=0’
M AL = SOt

2l Ol feedrate “F"Jt HRE gt FH UL

ol 2 Z(0)0] Oty LU(+)9 USZ feedrate “F"E ZZ &SI

7 ‘TAPPING: S=0’

M A= Sot

2 9l spindle speed “S"JF 22 & g2 HO L AL

o Z ¥(0)0| Otx! 2ol 2O 2 spindle speed “S"ES TR I BHLE,

8 ‘TAPPING: T=0’

M ML= SOt

2 9l tool number “T"JF Aol Xl (UL

ol Z tool number “T"= E(0) 0122 2t2 JIXAID A0k

o
o

9019 ‘TAPPING: P=0’

g M AYC=E SOt

2 9l tapping depth “P” HOo|&X| LQUC.

ol 2 tapping depth “P”’= H(0) 01212 g2 JIXI1D U OF StCH.

9020 ‘REAMING: F=0’
2 o deihs sot

& 9l feedrate “F"IOI ER& O =Z MO L UL
3l 2 Z(0)0l Oty 2(+)2 222 feedrate “F"E T Z )& 5HCH.



9021 ‘REAMING: S=0’

gt Asig= SOt

& spindle speed “S”JI ZRE 2to= HO L AL

2(0)0] Ol &(+)2] 22 spindle speed “S”E& T Z ) 2USHCE

Y re oz

9022 ‘REAMING: T=0’

g M AMAlE = SOt

2 2!l tool number “T"JF HO X AULCH.

3l 2 tool number “T"= H(0) 01212 2t2 JtX D UG OF StCH.

9023 ‘REAMING: P=0’
2 o ddr= sot

& 9l reaming depth “P” HZ X L ULt
ol Z reaming depth “P’= &(0) 012/ 2= JIXILD UO{OF StCH.

9024 ‘BOARING: F=0’
M AT = Sot
& 9l feedrate “F’II 2= &2t MO L UL

Z H(0)0] OtLl 2(+)2 2O Z feedrate “F’E TR ISt

9025 ‘BOARING: S=0’

2 M MElg = Sot

& Q! spindle speed “S"JI Z2XRE AU2= FH AL

ol Z Z(0)0l Ot:l 2(+)2l 2t2Z spindle speed “S"E ZZ 1 SHCL.

9026 ‘BOARING: T=0’
M ML= Sot
& 9l tool number “T"JF Mo Xl UL
Z tool number “T"= (0) 01212 S JIXILD U OF 8HLH.

9027 ‘BOARING: P=0’

2@ M AYMEE Sot

& QI boaring depth “P” & O|& Xl LULCH.

ol Z boaring depth “P”= &(0) 01212 g= JIXILD U OF SHCH

ol

9028 ‘DRILLING 3: F=0’
M AL = Sot
& 0l feedrate “F’I} ZR& 22 HOLULH.
Z H(0)0l Ot (+)2 222 feedrate “F'E T2

]

Ct.

9029 ‘DRILLING 3: S=0’
2 M ABE = SOt

& ¢l spindle speed “S"Jt #RE U2 FHO AL

ol 2 Z(0)0l Ot 2(+)2 2t2Z spindle speed “S"& T2 &Y.

9030 ‘DRILLING 3: T=0’

2@ M AHEE S0t

2 QI tool number “T"JF H O X LULCH.

ol Z tool number “T"= €(0) 01219 g+ JIXID U0{OF BHCH
9031 ‘DRILLING 3: P=0’

2@ M AHEE S0t

&l 9l center drilling depth “P” H2|&X| U&UCH.
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ol 2 drilling depth “P"= &(0) 0122 gtS JHXILl U OF

ro
O

9032 ‘BOARING 2: F=0’

2@ M AME = SOt

& 9l feedrate “F’IOI 2= g2 MO UL

ol 2 Z(0)0] Ote! LU(+)9 UCZ feedrate “F"E ZZ ] SEHCY.

33 ‘BOARING 2: S=0’
oA ML= S

2l 9Ol spindle speed “S”JI E2E O HOEULCH
ol Z Z(0)0| Ot:! (+)2 22 spindle speed “S"E T Z U EHC}.

9034 ‘BOARING 2; T=0’
M A = SOt
2 2!l tool number “T"JF HOIE X AUCH.
Z tool number “T"= E(0) 01218 2t2 JIXI1D A0k StCH.

9035 ‘BOARING 2: P=0’

2@ M AL E S0t

& 9l center drilling depth “P” Ho|T|X| L UL

il Z drilling depth “P"= €(0) 01212 gt= JHAID A0{OF StHCH

9036 ‘RECTANGULAR POCKET 1: F=0’

g2 M A= SO

& 9l feedrate “F"II ER& S =Z MO L ULH

ol 2 Z(0)0l Ot 2(+)2 B2 feedrate “F'E Z2 I

ro

Ct.

9037 ‘RECTANGULAR POCKET 1: S=0’
M AlSiE = SOt
& 9l spindle speed “S”JI Z2E 2oz HO UL
Z F(0)0] Otel 2k(+)2l 2t2 2 spindle speed “S”E TR A SHCY.

9038 ‘RECTANGULAR POCKET 1: T=0’
M AE = Sot
2 2l tool number “T"JF H g X| UL
Z tool number “T"& H(0) 0I212 &t2 JIXI1D Y00k

o
[w)

9039 ‘RECTANGULAR POCKET 1: P=0’

g8 M AWML= Sot

& 9l pocket depth “P” HE X LULCH

ol 2 pocket depth “P”’= ZE(0) 0l2/Ql gt JIXI YO0k &HCF.

9040 ‘RECTANGULAR POCKET 1: Tool diameter smaller than A’

2 M A= S0t

& ol =2 )& milling step «A»J} tool AISECH AL

ol 2 tool XIEECH ZH milling step «A»E T2 &GIHU 2 XE9 232

9041 ‘RECTANGULAR POCKET 1: Tool diameter larger than the pocket’
2 M AEGE SOt
& 2l tool XIS0| pockete “H” E£= “L” €0I= otLtECH 3L

Z pocket & E oA oH &2 XS toolE HEUSHLL.

9042 ‘RECTANGULAR POCKET 1: FINISHING tool diameter smaller than 8’

oM AHEs SO
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z ©
- O
N
N

10
Y re 0z

W e oz &
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Tz )8 & finishing stock «6»0] tool XIS2CH AL
tool XISECH &2 finishing stock «8»& T2 ]I HLE 2 X9 toolS HEHEILE

RECTANGULAR POCKET 2: F=0’

e = Sot

feedrate “F"JI 2R U222 FHIJALCH

(0)0l Ot 2K(+)Q 22 feedrate “F"S ZZISICH

RECTANGULAR POCKET 2: S=0’

Alslig= SOt

spindle speed “S”J} ZR& 202 MO UL

2(0)0| Okl 2 (+)2 =2 spindle speed “S"E T Z U EHCY.

RECTANGULAR POCKET 2: P=0’

AlSiE|= SOt

pocket depth “P” Ao & Xl 2LQULCH.

pocket depth “P"= ¥(0) 01212 g2 JIXID A0 OF

ror
[w]

RECTANGULAR POCKET 2: Wrong penetration angle’

A= SOt

02 20+ &1 902 2Bt 2 penetration angledt T2 8 | AUCH.

0° 2F 90° AMOIGIAM penetration angle «B» 2t «6»& T2 S}
RECTANGULAR POCKET 2: Tool diameter smaller than A’

g = Sot

T2 milling step «A»J} tool XIEECH AL

tool XISECH ZH milling step «A»E T2 I AHL 2 XIS9 2RE A

EH
==

]
[w]

RECTANGULAR POCKET 2: Tool diameter larger than the pocket’
A= Sot

tool XI20| pockete “H” = “L” 0|= stUECH AL
pocket &S SHIIAM &2 XIEQ tool2 MRS

RECTANGULAR POCKET 1: FINISHING tool diameter smaller than &’

g = Sot

Tz )& finishing stock «8»0| tool AISECH AL,

tool XISECH &2 finishing stock «&»E Z=2 &I HLE 2 XIE9 toolS HEHEIL

CIRCULAR POCKET 1: F=0’

ML= Sot

feedrate “F"JI Z2XR& A= FH AL

H(0)0l Ot 2K(+)2] t2Z feedrate “F'E ZZIH

o

Ct.

CIRCULAR POCKET 1: S=0’

AlsiE= SOt

spindle speed “S"JI E2XRE gtz HO T AL

2 (0)0] Okl 2(+)2 2 Z spindle speed “S"E ZZ & SHCH.

CIRCULAR POCKET 1: P=0’

Aldic= SOt

pocket depth “P” A& Xl QUL

pocket depth “P"= &(0) 01212l g2 JIXlD JACOF SHCH

CIRCULAR POCKET 1: Wrong penetration angle’

AsEs ot
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BCF &1 902 BCF 2 penetration angledt Z2 18 & ALCH
2 902 ALOIOIA penetration angle «B» 2} «6»& T =Z ) 24sHC}.

1o

‘CIRCULAR POCKET 2: Tool diameter smaller than A’

s = S0t

23S milling step «A»J} tool XISECH ALY,

tool AISELCH ZH milling step «A»E ZZ2JBIHU 2 XSQ ZRE L
‘CIRCULAR POCKET 2: Tool diameter larger than the pocket’

g = SOt

tool BtXISO0I| pocket BtXIE “R”EC+ AL

pocket ZHE GHI|AH &2 XEL toolS HEHEHL.

o

Ct.

‘CIRCULAR POCKET 1: FINISHING tool diameter smaller than &’

AElE = SOt

Tz )& finishing stock «8»0| tool XIS2CH AL

tool NISECH A2 finishing stock «6»& ZZHGIHU 2 XIS2 toolS L=

‘CIRCULAR POCKET 2: F=0’

g = S0t

feedrate “F"JI Z22& A= FLACH

(0)0I Ot (+)2l gt2Z feedrate “F"E T2 B

‘CIRCULAR POCKET 2: S=0’

adc = Set

spindle speed “S"JI Z#XRE A2= AL

2(0)01 Ot 2k(+)2l gt22Z spindle speed “S"E T2 @5HCL.

‘CIRCULAR POCKET 2: P=0'
Mgl sot

pocket depth “P” A& Xl L QUL
pocket depth “P"= &(0) 0l2lQ 22 JIXIZD YO0k StC.

‘CIRCULAR POCKET 2: Wrong penetration angle’

e = S0t

0° ECF &1 90° ECF 2 penetration angledt T2 18 T UCH.
0° 2 902 ALOIOI A penetration angle «B» 2t «o»& ZZ 12 SHLL.

‘CIRCULAR POCKET 2: Tool radius greater than Ri’
AL = SOt

Ri (L5 BHXI2)EC 2 BHXIES JHX tool0] LU
X2 XIEE JIE tool2 HEiEHL.

‘CIRCULAR POCKET 2: Tool diameter smaller than A’

s = Sot

T2 milling step «A»J} tool XISELCH ALCY.

tool AISECH ZH milling step «A»E T2 oI HU 2 XSEQ 2FRE &
‘CIRCULAR POCKET 2: Tool diameter larger than the pocket’

AllE= SOt

tool BtXIE0| pocket YtXIE “R”ELC+ AL

pocket ZHE GLI|AH &2 XEL toolS HEHL.

]

Ct.

‘CIRCULAR POCKET 1: FINISHING tool diameter smaller than &’
g = SOt

T2 & finishing stock «8»0| tool XIS2CH AL
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tool XISECH &2 finishing stock «8»& T2 ]Gt HLE 2 XIE9 toolS

‘CIRCULAR POCKET 2: Ri > Re’

Acls S0

W2 BIXIE (Ri)Jt HHZ XIS (Re)2CH 3N T2 SACH

‘RECTANGULAR BOSS: F=0’
Aldig= Sot
feedrate “F’JI ZR= 2to= O AL

AH(0)0| Otel 2(+)2 t2Z feedrate “F"E T Z & 5HCY.

‘RECTANGULAR BOSS: S=0
Aggs sot

—_ O

spindle speed “S”JI ZR&E gtoz HOIL AL,

2(0)0] Ottl 2 (+)2] Zt2Z spindle speed “S"E TZ U SHC.

‘RECTANGULAR BOSS: P=0’

AlSiE|= SOt

boss depth “P” H2lE Xl ALULH

boss depth “P”"= H(0) 01212 2t JtXI1D U OF

StCt.

‘RECTANGULAR BOSS: Tool diameter smaller than A’

At = SOt
T2 milling step «A»J} tool XIEELCH ALY,

tool XISECH &H milling step «A»E ZZ ol HU 2 XIS9 2FE

‘RECTANGULAR BOSS: FINISHING tool diameter smaller than &’

aggs sot

Tz )& finishing stock «6»0] tool AISECH AL,
tool XISECH &2 finishing stock «»E Z2 ]St HLE 2 X292 toolS MEHEILH

‘CIRCULAR BOSS: F=0’
AdlE = Sot
feedrate “F"JI ZR= gtz HO UL

(0)0| OtLl 2k(+)9 UOZ feedrate “F’E TZ &M

‘CIRCULAR BOSS: S=0’
AlEig= SOt
spindle speed “S"JI E2RE 2= FHO L AL

]

Ct.

2(0)0| Ol 2(+)2 =2 spindle speed “S"E TR U SHCY,

‘CIRCULAR BOSS: P=0’

AlSiE= SOt

boss depth “P” A2 & X| LQUCH

boss depth “P"= (0) 01212 2t2 JtXI1D AU Ok

‘CIRCULAR BOSS: Tool diameter smaller than A’
alliE= SOt
EZ 2= milling step «A»J} tool XIELLCH ALY,

tool AISECH ZH milling step «A»E Z2IGIHUL 2 XS59 23

o
[w)

‘CIRCULAR BOSS: FINISHING tool diameter smaller than &’

Aggs so

T2 & finishing stock «8»0| tool XISECH AL,

67

up
x
Jjo

o

&

—

EiSHCEH

EH
=

gt

Ct.



ol 2 tool XISECH &2 finishing stock «§»& Z2 ol HLE 2 XIE9 toolS &EiSHC.

9076 ‘PROFILE POCKET: F=0’
2 M ABE = SOt

feedrate “F"JI 2R A2 FLJALCH

(0)0l Ot 2H(+)Q 22 feedrate “F"S ZZISICH

2o
Y re oz

77 ‘PROFILE POCKET: S=0’
o dHlE=E S

2l 9l spindle speed “S”JI Z22E O HOEULH
ol Z Z(0)0| Ote! &(+)9 22 spindle speed “S"E T Z 24 EHC}.

9078 ‘PROFILE POCKET: P=0’

2@ M A= SOt

2 9l pocket depth “P” HOE X LULCH

ol 2 pocket depth “P’= €(0) 0122 22 JIXID A0 0F SHCY.

9079 ‘PROFILE POCKET: Wrong penetration angle’

g M AlSC=E SOt

& ol 02 20 &1 90° ECt 2 penetration angledt T2 18 T UCH
of 2 02 2 902 AIOIOIAl penetration angle «B» 2+ «6»& ZZ ) EIC,

9080 ‘PROFILE POCKET: Tool diameter smaller than A’
o M= SOt
& ol T2 )EE milling step «A»J} tool XIEELCH AL
& tool XIZEECH & milling step «A»E T2 EGIHUL 2 XSE9 23

i
rx
In
]
[w)

9081 ‘PROFILE POCKET: FINISHING tool diameter smaller than &’

2 M A e SOt

& o =z )&E finishing stock «8»0| tool XIS2CH AL},

ol Z tool XISECH &2 finishing stock «6»& Z=Z2 185t HLE 2 XIE2 toolS &EISHLL.

9082 ‘3D PROFILE POCKET: F=0’

8@ M AYMEE SOt

& QI feedrate “F"II Z22& g2 Ao L ULH

ol 2 Z(0)0l OtY L (+)ol 2&tOZ feedrate “F’E Tz &

o

Ct.

9083 ‘3D PROFILE POCKET: S=0’
M AlSiC = SOt
& ¢l spindle speed “S"J} B2RE U2 FOIL UL
Z F(0)0 OtY (+)o 2t2 2 spindle speed “S”E TR EHC}.

9084 ‘3D PROFILE POCKET: P=0’
g M AlEiC= SOt
& QI pocket depth “P” HoIL Xl LQULH.

Z pocket depth “P”& &(0) 01212 g2 JtXILD A OF

ror
[w

‘3D PROFILE POCKET: Wrong penetration angle’

alalig= SOt

0° 20 &1 90° ©ECH 2 penetration angledt T2 2 & AUCH.
02 2 902 ALOIOIA penetration angle «p» 2 «6»& T Z )& EHL}.

o e 8
W e oz &

‘3D PROFILE POCKET: Tool diameter smaller than A’

= SO

T2 milling step «A»Jt tool XISECH 3C.

o ng 8
ez o
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He

ol 2 tool XISECH & milling step «A»& Z2 &6t HLE 2 XIE9 23

I[]
o

Ct.

9087 ‘3D PROFILE POCKET: FINISHING tool diameter smaller than &’
g M Adg= SOt

ol m2 A& finishing stock «8»0| tool XIS2CH ALC}.

Z tool XISECH &2 finishing stock «6»& T2 1&oHLU 2 XIS2 toolS &SI

o o

88 ‘3D PROFILE POCKET: FINISHING tool diameter smaller than R’
M A= Sot

2l 9l finishing tool2l E'XIS0I R (fichshing tool tip BXIE)L2CH =L},
ofl 2 2 XIE2 JI¥ tool2 A &S

9089 ‘SURFACE MILLING: F=0’
M A = SOt
& 0l feedrate “F’II ZR&E 222 HOLULCH
Z F(0)0| O 2U(+)2 BtOZ feedrate “F’E T Z &St}

9090 ‘SURFACE MILLING: S=0’

2 A Aldlig= S0t

2 9l spindle speed “S”JI ZRE 2oz HOLALL.

ol 2 Z(0)0| Ot &(+)2 gt 2 spindle speed “S”E T2 & SHCT

9091 ‘SURFACE MILLING: T=0’
o M= SOt
2 2l tool number “T"JF HO Xl AULCH.
Z tool number “T"= E(0) 01212 2t2 JIXI1D U0k SHCH.

9092 ‘SURFACE MILLING: P=0’
M AlSiE = SOt
& 9l surface milling2l depth “P” &= Xl 2LUCH
& surface milling depth “P”’= &(0) 012l gt JIXID A0I0F

]
[w]

9093 ‘PROFILE MILLING 1: F=0’
M ASHE = SO0t
& 9l feedrate “F"II 2= g2 MO L ULH
Z 2(0)0| Ol 2(+)2l Bt2OZR feedrate “F’E Tz

o

Ct.

9094 ‘SURFACE MILLING 1: S=0’

B M AMCE SOt

& 0l spindle speed “S”J} ERE O =2 FHOIE UL

ol 2 Z(0)0| Oyl &(+)Q gE2Z spindle speed “S”E T2 & SHCT,

9095 ‘SURFACE MILLING 1: T=0’

2@ M AYMCE SOt

2 2l tool number “T"2JF HOIT Xl LULH.

ol Z tool number “T"= E(0) 01212 2t JIAID A0k BtCH.

9096 ‘SURFACE MILLING 1: P=0’
N AL = Sot
& 2l surface milling2l depth “P” &Ao|Z| Xl (ULt
2Z surface milling depth “P”= &(0) 0l212 g2 XD U O

]
[w)
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& 2 JIHEYE profiledt ALK &AL
ol Z profilee S0t AW LI2= 2 MOI0 =4 F JHS 822 P4 &0

9098 ‘PROFILE MILLING 2: T=0’

2 M AEG = SOt

& 2l tool number “T"Jt HC|Xl A4UCE.

ol 2 tool number “T"= &(0) 01212 gt= JtXILl AOCIOF BHCH.

9099 ‘PROFILE MILLING 2: F=0’
2@ M AME = Sot
& 9l feedrate “F’II 2= g2 A L ULH

Z F(0)0| Ot:! 2(+)Q BtOZ feedrate “F’E T Z I BHC}.

9100 ‘PROFILE MILLING 2: S=0’

2@ M AL = SOt

2 0l spindle speed “S”Jt &R E gtO2 HO & ALY,

ol Z H(0)0] Ote! 2(+)2 22 spindle speed “S”E T Z ] USHCH.
9101 ‘PROFILE MILLING 2: P=0’

2@ M AMEE=E SOt

& 2 milling2l depth “P” Aol Xl LULH

il 2 milling depth “P”"= ¥(0) 0l22 2t JIXID U OF StCt.
9102 ‘SLOT MILLING: F=0’

2@ M AL = SOt

& 9l feedrate “F’ot Z2& g2 MO L ULH

S 2 Z(0)0| Oty 2(+)2Q A2 Z feedrate “F"E ZZ ] 5HCH.

9103 ‘SLOT MILLING: S=0’

2@ M AMEE SOt

2 9l spindle speed “S”JI ZRE 2to=2 HO AL

i Z Z(0)0] Otxl 2(+)2 22 spindle speed “S"E T ] SHCH.

9104 ‘SLOT MILLING: P=0’
M ASE = SOt
2 9l milling2l depth “P” Holg Xl LQUC}.
Z milling depth “P"= &(0) 01212 2t JIXID YOOk 8tC}.

9105 ‘SLOT MILLING: L=0’

2 M AeiE= SO

2l 2l slot length “L”0l ®ol= Xl UL

ol 2 pocket depth “P"= F(0) 01212 2t JtXIDD A0{0F SHCH.

9106 ‘SLOT MILLING: Tool diameter smaller than A’
2 M A= SO
ol Tz )&&E milling step «A»Jt tool XISECH 3L
ol 2 tool XISECH & milling step «A»E T2 )&t HL 2 X829 Z2FRE

9107 ‘SLOT MILLING: Tool diameter greater than groove’
M A= Sot

2 2l toolQ BIXIE0| T2 & slot2CH AL

Z2 &2 XE2 JIX toolE2 AEistC).

9108 ‘SLOT MILLING: FINISHING tool diameter smaller than &’

70
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(=13
=
2
ol

0|I

adr= S0t

T2 3 & finishing stock «8»0] tool AISE2CH AL

Y F90==

9109 ‘LINEAR POSITIONING: Wrong I’

o4 AHCE SO

2 9l positioning AHOISl HEl «»JF Z2RE 22 JIAD YD 2 machinging operation2

A el
of 2 =& CIOIEHJt Z&EHK &0l

o
(_l

b

9110 ‘ARC POSITIONING: Wrong B’

2 Y adif=s S

& 2l positioning A0Sl Hel «B»IF ERE g2 JIX LD U1 IHES machinging operation2]

A =0
of 2 =& OI0IEot Z&SHX &It

9111 ‘ARC POSITIONING: Wrong Ix/ly’

Ok M AlSHGE| = SOt

.|

lllllll

G1&0tXl &=L
H 2 &= CIOIEJL E&8Xl SISt

ol

9112 ‘GRID POSITIONING: Wrong Ix/ly’

A AIBHE|= SOt

ne

Gi86tAl &=
Z & CIoIEJL E&8Xl &oIstCt.

L

71

tool XISECH &2 finishing stock «6»& ZZ 1816t HLE 2

2 9l positioning AFOIS Hel «Ix/ly»S oSILIDF &2#2E g2 JIX 1

2 9l positioning AFOISl HeEl «Ix/ly»S olLIDF Z22E g2 JIX 1

UL

UL

XIE2 tool2 S EHSHCE,

02

0

122 machinging operation2|

1242 machinging operation2|
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